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Question Number : 1 Question Id : 59445932417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

A-10,E-151-20,M-25,
Options :

l.* Q-5

2. Q-30

3. % P-30

4. % R-30

Question Number : 1 Question Id : 59445932417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I U DT I8 BX, Sl HaferRad graerm & spvar e

A-10,E-151-20,M-25,
Options :

l.* Q-5

2.9 Q-30

3. % P-30

4. % R-30

Question Number : 2 Question Id : 59445932418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

FIN, NQV, VYD, ?, LOT
Options :
1. = HLS
2. ¥ DGL
3. * HGP
4. = GLH

Question Number : 2 Question Id : 59445932418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I UG 1 T4 Bx, Sl FaferiRad s & sver s

FIN, NQV, VYD, ?, LOT
Options :
1. # HLS
2. ¥ DGL
3. ®* HGP



4. % GLH

Question Number : 3 Question Id : 59445932419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series.

CWHK, FULL, ISPM, LQTN, OOYO
Options :

1. * ISPM

2. % LQTN

3. ®* FULL

4. % 00YO

Question Number : 3 Question Id : 59445932419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad s | Tad ug I1d ier-

CWHK, FULL, ISPM, LQTN, OOYO
Options :

1. = ISPM

2. % LQTN

3. * FULL

4.+ 00YO

Question Number : 4 Question Id : 59445932420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the term that will come next in the following series.

AG,L,PS,?
Options :



1. %V
2.%Y
3. % W
4. ¥ U

Question Number : 4 Question Id : 59445932420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I UG &1 99 @y, S FRyferiRad gaar o ST e |

AG,L,PS,?
Options :

1. %V

2. %Y

3.% W

4. ¥ U

Question Number : 5 Question Id : 59445932421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Google : Sundar Pichai : : Microsoft : ?
Options :

1. % Tim Cook

2. % Mark Zuckerberg

3. % Satya Narayana Nadella

4. # Shantanu Narayen

Question Number : 5 Question Id : 59445932421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 fadhed BT 98 3 ol IR UG 3 3T e ¥ Hefdd g, oy IR gaRT Ug Ugd U ¥ Yeld gl
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Options :

|. % fCAp®

2. % T JhaT

3. ¢ T AR 8dT
4. % QI AR

Question Number : 6 Question Id : 59445932422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Marie Curie’ is related to ‘Science’ in the same way as ‘Leonardo Da Vinci’ is related to ¢
Options :

1. ¥ Painting

2. # Philosophy

3. % Sculpting

4. # Polity

Question Number : 6 Question Id : 59445932422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B FRY o A I UpR Teifd & S veR ofeireis e Jdsfaase
Options :

1. ¢ BRI

2. % GRHRIRA

3. % bl

4. % Giferdy

Question Number : 7 Question Id : 59445932423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letters from the given alternatives.

KIM : PRN :: TOR : ?
Options :

1. ¥ GLI

2. % GLF

3. ¥ GOM

4. ¥ GHL

Question Number : 7 Question Id : 59445932423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafrfed gy , fdu 7u faswedl § 9 Hefid siarl &1 997 &< |
KIM:PRN::TOR:?

Options :

1. ¥ GLI

2. % GLF

3. ¥ GOM
4. % GHL

Question Number : 8 Question Id : 59445932424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

FL:BH::GM:?
Options :

1. % DJ

2.% CI

3.% LP

4. % QS



Question Number : 8 Question Id : 59445932424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefead vy o, feu T fasedl & O Jeifdd ofarl o1 91 a1
FL:BH::GM :?

Options :

1. % DJ

2.% CI

3.% LP

4. % QS

Question Number : 9 Question Id : 59445932425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, NOIDA is coded as STNIF. What will be the code for MEERUT?
Options :

1. ¥ RIIWZY

2. % SIIWZZ

3. % WZYRIJ

4. % SJIVZY

Question Number : 9 Question Id : 59445932425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAf¥d Ffed U9 &, NOIDA &1 STNIF & &0 § Hfed a1 SITdT 8| MEERUT & forT S a1 i
Options :

1. ¥ RIIWZY

2. % SIIWZZ

3. % WZYRIJ

4. % SIIVZY




Question Number : 10 Question Id : 59445932426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, “FRAK” is written as “35” and “MALT” is written as “45”. How is “TRIM” written in that code language?
Options :

1. # 60

2.% 59

3. % 61

4. % 58

Question Number : 10 Question Id : 59445932426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FAfdd Ffed U & “FRAK” &1 “35” 3R “MALT” & “45” feral ST 8 | S FHfed U1 & “TRIM” $HY feraT ST 82
Options :

1. %® 60

2.9% 59

3. % 61

4. % 58

Question Number : 11 Question Id : 59445932427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the
code for 'watch' ?

Options :
1. %1
2. % 8
3.%5
4.7

Question Number : 11 Question Id : 59445932427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Udh ICIEG] P HINT ff, 1875 &l 31”*’-?% 'wound the round watch', 6143 DI G{ﬁ% 'a cake is round' % 3R 7321 BT 3‘[&% 'watch a round wheel' .
watch ' %%’Q@WW ?

Options :

1. %1

2. %8

3.%5

4. ¥ 7

Question Number : 12 Question Id : 59445932428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TEACHER is coded as CAHEETR and STUDENT is coded as DUETNST, then what is the code for SUCCESS?
Options :

1. # CECSUSS

2. % CCEUSSS

3. % SCUSCES

4. ¥ UCSECSS

Question Number : 12 Question Id : 59445932428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfd TEACHER &1 CAHEETR & %0 H $e fa1 701 § 3R STUDENT &1 DUETNST & ¥U H gfed farar a1 ], 9l SUCCESS & fiu @e
T 82

Options :

1. ® CECSUSS

2. ¥ CCEUSSS

3. % SCUSCES

4. ® UCSECSS

Question Number : 13 Question Id : 59445932429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

There is a group of 6 people: A, B, C, D, E and F (not necessarily in the same order). D is taller than A and E. F is taller than B and C. E is taller
than F. A is taller than F. Which of the following can be the shortest person?

Options :

1.¥ B,orC
2. % B,orE
3.% C,orF
4. % A orC

Question Number : 13 Question Id : 59445932429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D,E, 3R F 6 AN &1 T YU & (T FHH &L, AT T8) D, A SIREY TSI F,BAR C AT GIE, FATAEI A, F I
da1 31 Fafiad & 9 9a9 Bier safed &1 8 Yo 32

Options :

1.+ B, I C

2. % B,OIE

3. % C,UIF

4. % ATIC

Question Number : 14 Question Id : 59445932430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six people P, Q, R, S, T and U sit in a row, not necessarily in the same order. If two persons sit in between P and Q, and two persons sit in
between T and U, then how many persons sit in between R and S?

Options :
1. % One
2. ¥ Two
3. ® Three
4. % Four



Question Number : 14 Question Id : 59445932430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIEAGIP, Q, R, S, TR U TH UG HS3d &, TRedl Tel fr sl A gl o S aufdap siR Qo A dod g iR g aafad T 3R U
A HI3d §, AR 3R S P S | foba o] 93 82

Options :

1. % U

2. ¥ Q

3. %

4. % IR

Question Number : 15 Question Id : 59445932431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven persons — A through G sit around a circular table such that B sits to the right of E, who sits two places away from A. D sits adjacent to B
and G. A sits to the right of C. Who sits to the left of F?

Options :
1.¥ A
2. % E
3. G
4. % C

Question Number : 15 Question Id : 59445932431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e - A Y G TH JAIBR A & IR} 3R TYUBR 934 8./ B, E P &8 AR I318, Sl AV A ™M R 81 D, B 3R G & Adpeadf
d9GdTg 1 A, C % &g R 93T 3| F & I1% 3R DI 9341 52

Options :

1.¥ A

2. % E

3. G

4. % C




Question Number : 16 Question Id : 59445932432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of 28 students Jamuna was 12th from the left end and Ganga was 19th from the right end. If Sarasvati was seated exactly in between
them then what was Sarasvati's position from the right end? Assume students were seated facing the North.

Options :
1. # 17th
2. ¥ 18th
3. #® 16th
4. % 20th

Question Number : 16 Question Id : 59445932432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28 faenffat o) e dfad A ST A SR ¥ 12 § SR T alfed B8R ¥ 19 & M WR ff | e Wt 3% 3l g dat A d e sR I
TR BT {5 R W 2 A o s faendf Sar &1 3R 5@ 6 &6 U

Options :
.%174d
2.¢ 184
3. % 164d
4. % 20d

Question Number : 17 Question Id : 59445932433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If C is daughter of A but A is not the father of C, E is Niece of C.E is daughter of F where F is husband of D and F has no siblings. How is C
related to D?

Options :

1. * Father
2. % Aunty
3. ¥ Sister



4. % Brother

Question Number : 17 Question Id : 59445932433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fuar

2. % gl

3. ¥ dg

4. % g

Question Number : 18 Question Id : 59445932434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The statements given below are followed by two conclusions labeled I and II. Assuming that the information in the statement is true, even if it
appears to be at variance with generally established facts, decide which conclusion(s) logically and definitely follow(s) from the information
given in the statements.

Statements:

No Boat is Ship.

All Ship are Stream.
Conclusions:

I. No Stream is Boat.

II. Some Stream are Boat.

Options :

1. * None of the conclusions follow.
2. % Only conclusion I follows.

3. * Only conclusion II follows.

4. % Either conclusion I or II follow.

Question Number : 18 Question Id : 59445932434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % PHad DY [ SR FRaAT 5 |

3. % Had FT5HY I1 TR0 HAT 5 |
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Question Number : 19 Question Id : 59445932435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In each question below are given three statements followed by two conclusions numbered I and II. You have to take the two/three given
statements to be true even if they seem to be at variance from commonly known facts and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statement:

Some mobiles are laptops.

No laptop is computer.

All phones are computer.

Conclusion:

I. At least some mobiles are computer.
II. At least some phone are laptops.

Options :
1. % If only conclusion I follows.
2. # If either conclusion I or II follows.

3. % Ifboth conclusion I and II follow.



4. % If neither conclusion I nor I follows.

Question Number : 19 Question Id : 59445932435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feu U vde Uy H i Y 3R 39 a1¢ &) Fsed 1 9yt 11 AT U § 1 iUt fau U g1/ Sy &t I JIHAT | Y 8 3 Faed
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HY:
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Options :

1. % ¢ had (sh | 3FER0 HRT 6|

2. % i ATl Fpy 1 a1 FI5hY 11 SITRR0T HraT B |
3. % g fsam 1 quT 5B 11 GFT 3FERU xd B |
4.« g A N ey 17 ey 11 SrRuT HRaT B

Question Number : 20 Question Id : 59445932436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

Some cups are not bolts.
All dusters are balls.

All cups are balls.



Conclusions:
I. All bolts are cups.
II. Some dusters are cups is a possibility.

Options :

1. ® If only conclusion I follows.

2. % If only conclusions II follows.

3. # If either conclusion I or II follows.
4. ® If both conclusion I and II follow.

Question Number : 20 Question Id : 59445932436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g rad s [ 3IERU HRT 8|

2. ¢ TS Had F5HY 11 TR0 &l §

3. % gie ar e Fhd 137 11 TR0 BT & |
4. % g Fpy 1 SR 11 ST SFRRUT AR B |

Mental Ability2

Group Number : 2
Group Id : 594459417



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 5944591139
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591306
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445932437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A statement is followed by two Conclusions I and II. You have to consider the statement to be true, even if it seems to be at variance from
commonly known facts. You are to decide which of the given conclusions can definitely be drawn from the given statements and indicate your
answer accordingly.

Statements:

India is a country of multiple languages.
Conclusions:

I. All Indians should learn multiple languages.
II. Every country has multiple languages.



Options :

1. % Only conclusion II follows.

2. ¥ Neither conclusion I nor conclusion II follows.
3. % Both the conclusions follow.

4. # Only conclusion I follows.

Question Number : 21 Question Id : 59445932437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP HYF 3R IqP 916 1 3R 11 § 3ifpd 3l Fhy fau T 8| 3ue! U T S &1 I AT 8, Mol 81 d 1 a2l o S{eT Uit 81d g |
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Options :

1. # $Had [5HY I1 SR BT ] |

2.« A B 1 3R T & Feam 11 SRR HRa 3|
3. % G fFpY SR R g

4. % FHaq Y [ SRV FRAT B |

Question Number : 22 Question Id : 59445932438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, a statement is followed by two assumptions numbered I and II. An assumption is something supposed or taken for granted.
You have to consider the statement and the following assumptions and decide which of the assumptions is implicit in the statement.

Statement: The patient's condition would improve after operation.
Assumption I: The patient can be operated upon in this condition.
Assumption II: The patient cannot be operated upon in this condition.

Options :



1. ¥ If only assumption I is implicit.
2. % If only assumption II is implicit.
3. # If neither I nor II assumption is implicit.

4. ® Ifboth I and II assumptions are implicit.

Question Number : 22 Question Id : 59445932438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fe Had gYRUT [ 3r: g 71

2. % gfe Had gYRT 11 3<: Afga g1

3. % gie Tl 1 3R A8 11 3ragurRun 3f: Afgad g1

4. % e [ 3R 11 GHY YR 3r<: Afgd B

Question Number : 23 Question Id : 59445932439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

14, 44, 135, 409, 1232, ?
Options :
1. % 2962
2. % 3340
3.9 3702
4. % 3406



Question Number : 23 Question Id : 59445932439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fas el T 9 qud TRea o1 o dhe |

14, 44, 135, 409, 1232, ?
Options :
1. % 2962
2. % 3340
3. ¥ 3702
4. % 3406

Question Number : 24 Question Id : 59445932440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If '+' means 'x', '-' means '+, 'x' means '-' and '+' means 't', then what will be the value of 46 + 12 + 8 x 363 - 33?
Options :

1. * 130

2. % 121

3.9 131

4. % 133

Question Number : 24 Question Id : 59445932440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e '+ BT 31, - BT 3Rl 1+, T 31 - qUT = BT 3 '+ B, W46 + 12 + 8 x 363 - 33 BT T T G
Options :

1. #® 130

2. % 121

3. ¥ 131

4. % 133



Question Number : 25 Question Id : 59445932441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If17 $22=4and 56 $ 13 =7, then find the value of 71 $25 =72
Options :

1. ® 56

2. % 96

3.1

4. % 8

Question Number : 25 Question Id : 59445932441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfE 17 $22=4 3R 56 $ 13 =7, A 71 $ 25 =BT T J1d DITL?
Options :

1. #® 56

2. % 96

3.1

4. % 8

Question Number : 26 Question Id : 59445932442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question select the related number from the given alternatives.

643:9::441:7::324:7
Options :

1. %3

2. %9

3.6

4, %2



Question Number : 26 Question Id : 59445932442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGT TTQ fashedl § & Haifdrd I o1 999 B |
643:9::441:7::324:7

Options :

1. %3

2.%9

3.6

4. % 2

Question Number : 27 Question Id : 59445932443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following questions a relationship between different elements is shown in the statements. The statements are followed by 2 conclusions,
give answer.

Statement:
X2>X6,X4<X1<X5,X3=X2,X5>X3
Conclusion:

1. X3 >X6

2. X3 =X6

Options :

1. % If only conclusion 1 is false.

2. % If only conclusion 2 is false.

3. % If either conclusion 1 or conclusion 2 is false

4. % Tfneither conclusion 1 nor conclusion 2 is false.

Question Number : 27 Question Id : 59445932443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfafaa oAl 7 fou syt | faft= aal & S 6y giar T g1 Y9 & 916 2 Aspy fiu e §, SR S



hY:
X2>X6,X4<X1<X5,X3=X2,X5>X3
fAshy.

1. X3 > X6

2. X3=X6

Options :

1. % gfe Pad F=py 1 3§
2. % i Had ey 2 3T ©
3. ¢ giegrdl ey | g7 ey 2 s ©
4. % gfe T ar fased 1 T 2 g B

Question Number : 28 Question Id : 59445932444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams correctly represents the following classes:

Men, Father, Doctor
Options :

©

3. ¢



4. %

Question Number : 28 Question Id : 59445932444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa &  oF 197 3ma Ay v &1 98t yaR ufafAfia #drg:
3meHT, fudn, STaex

Options :

1. ®

3.¢

© @@

Question Number : 29 Question Id : 59445932445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the figure, how many people read Newspaper A?

Newspaper A MNewspaper B

B
L0

Newaspaper C

Options :
1. % 64
2. % 88
3. ¥ 236
4. % 172

Question Number : 29 Question Id : 59445932445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o §, fopdm < THRIR U3 A Ugd 82

HAMIZ U A A HAMMIZ U B
(@S
HAAMIRZ T C
Options :
1. % 64
2. % 88

3. ¥ 236



4. % 172

Question Number : 30 Question Id : 59445932446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

India, New Delhi, Australia
Options :

®
o
&
S

Question Number : 30 Question Id : 59445932446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I RT BT I B3 ol feT T a1 A Ifd ey i 8:




HRd, 775 faeet, sifecfermn

Options :
2. ¥ ©

&
S

Question Number : 31 Question Id : 59445932447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Pets, Dogs, animals
Options :



Question Number : 31 Question Id : 59445932447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o T 3T 3G &1 7 3 ol fu U avif & Ifyd Jey Y guidr g2

Telq STHaR, P, SITAR




Options :

(D
L LO

am
1@
4.9 .

Question Number : 32 Question Id : 59445932448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Following figure, pentagon represents Reality shows, parallelogram represents Movie channels, triangle represents Fashion shows and
rhombus represents News channels. This information is about the people who like different types of shows.



The people who like only News, Movie and Fashion shows are represented by the letter
Options :

1. % d

2.% ¢

3.% b

4. % a

Question Number : 32 Question Id : 59445932448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad srefa 8, days Rafed 2t o1 ufafAfia w1 |, THHIaR aqys gdt <l &1 ufafAfid orar g, Bieiu e 2 &t
HfaffiE 1 § SR THaqYs THER ol &1 Ui a1 § | 98 TSR S all & IR 8 g o fafe TR & M a¥e B




o1 crfdal & Had AR, Yt 3R HeE M Iie §, 31 31&R GRT I AT & |
Options :

1. % d

2.¥ ¢

3.% Db

4. % 3

Question Number : 33 Question Id : 59445932449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B is to the north of Z and is to the west of K, who is to the south of C and to the west of L. What is the position of Z with respect to L?
Options :

1. ¥ South-west

2. # South-east

3. % South

4. % West

Question Number : 33 Question Id : 59445932449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B,ZH IR AGINRKFUH AR, SNCH Y H MR L FUBH AR L & Iy H z &) fRUfT = g2



Options :

1. ¢ G&ur-ufgm
2. % Gfaurgd
3. % Gl

4. % gigy

Question Number : 34 Question Id : 59445932450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

L A

7 |N

Options :

)




Question Number : 34 Question Id : 59445932450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST DT g D Sl FEferiRad g@er o 3 e

i | e

=y N

Options :




3.¢

Question Number : 35 Question Id : 59445932451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

| I | ]
Options :



=
X
=
£

Question Number : 35 Question Id : 59445932451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 A ed o7 70 B o R SMTehid O ST ave I Taifed § oy TR ger! Sidfd uget siipfa & Twifid ]
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Question Number : 36 Question Id : 59445932452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the odd figure out of the given series.

DOIOIH|O

1 2 3 4 5
Options :
1. % 4
2.¥5
3. %3
4. % 2

Question Number : 36 Question Id : 59445932452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A e § A Ao Pl B |
1 2 3 4 5
Options :
1. % 4
2.¥5
3. %3

4. %2



Question Number : 37 Question Id : 59445932453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the given figure?

O

7

Options :
1. % 7
2. %10
3.9
4. % 11

Question Number : 37 Question Id : 59445932453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 78 R ¥ fobam Y IufRa 82

N

Options :
1. %7
2. %10
3.¥9



4. % 11

Question Number : 38 Question Id : 59445932454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In each of the following questions, choose the correct mirror image of the figure, from amongst the four alternatives.

X

Options :

K
7
X

3. ¢



K

Question Number : 38 Question Id : 59445932454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfeiad & 9 e e H, A U IR el # F o o A8t quur i o1 =g &3

X

Options :

K
K

2. %




X
XK

Question Number : 39 Question Id : 59445932455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.

3.

Question Figure:

Options :

1. ¥



Question Number : 39 Question Id : 59445932455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad U & -1 o34 & g gt faded &1 9g9 o1 |
T2 HTH o

K

Options :




1. ¥

Question Number : 40 Question Id : 59445932456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure.



+

O
X

Options :

B & @ D

>
#

Question Number : 40 Question Id : 59445932456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Awarenessl

Group Number : 3

Group Id : 594459418
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 5944591140
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591307
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445932457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Chandragad fort situated?
Options :

1. ¥ Maharashtra

2. % Andhra Pradesh



3. #® Karnataka
4. # Gujarat

Question Number : 41 Question Id : 59445932457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

derg fover Fafefead # 9 frg wrsa o Rud 82
Options :

1. ¢ HeRTY

2. % Y UG

3. % BHiCh

4. % TSRId

Question Number : 42 Question Id : 59445932458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following dance-forms is Shovana Narayana very renowned?
Options :

1. # Bharatnatyam

2. ¥ Kathak

3. # QOdissi

4, % Lavani

Question Number : 42 Question Id : 59445932458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 TR0 e # ¥ S Jd-war & g SR g2
Options :

1. # HdATRH

2. ¥ DD

3. % SIS



4. % qrquoft

Question Number : 43 Question Id : 59445932459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Mehrangarh Fort established?
Options :

1. % 1456

2. % 1457

3. % 1458

4.+ 1459

Question Number : 43 Question Id : 59445932459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AETe fohdl &t T foo adf ot 775 i
Options :

1. % 1456

2. % 1457

3. % 1458

4.+ 1459

Question Number : 44 Question Id : 59445932460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Goan mud musical instrument?
Options :

1. # Bandna

2. % Ghumot

3. ¥ Kondo

4. # Gwandab



Question Number : 44 Question Id : 59445932460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFraffad & @ &1 a1 Mg fird) o1 arer g 89
Options :

1. % g

Question Number : 45 Question Id : 59445932461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Bihula festival very popular?
Options :

1. # Odisha

2. % Madhya Pradesh

3. # Gujarat

4. ¢ Bihar

Question Number : 45 Question Id : 59445932461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiea @ 9 forg s o fogan iR agd Ais it 82
Options :

1. % afifg=m

2. % ALY

3. % TSRId

4. ¢ f98R

Question Number : 46 Question Id : 59445932462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Till which year was India in the first stage of demographic transition?
Options :

1. * 1901

2. % 1911

3.9 1921

4. % 1931

Question Number : 46 Question Id : 59445932462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o oY & d ad HRA ST 1 HehHUT o Ty g F U2
Options :

1. ® 1901

2. % 1911

3. ¥ 1921

4. %= 1931

Question Number : 47 Question Id : 59445932463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the duration of the Second Five Year Plan?
Options :

1. * 1955-60

2.9 1956-61

3. % 1957-62

4. * 1958-63

Question Number : 47 Question Id : 59445932463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgcita darasifa Ao &t safey o ot
Options :

1. ®# 1955-60

2. % 1956-61

3. % 1957-62

4. % 1958-63

Question Number : 48 Question Id : 59445932464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following committee's recommendations led to the formation of NABARD?
Options :

1. ¥ Shri B. Sivaraman Committee

2. ® Shri Naresh Chandra Committee

3. # Shri Dharma Vira Committee

4. % Shri Homi Sethna Committee

Question Number : 48 Question Id : 59445932464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A fbg |iHfd B R & SR ATETS BT T3 gail
Options :

1. ¢ & off FRraRm Ffafa

2. % o T dg FAfd

3. % ot e fovr gfAfa

4. % &Y gl Yo FiAfd

Question Number : 49 Question Id : 59445932465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What amount of fund allocation has been announced in the Union Budget 2020-21 for education sector?
Options :



1. # Rs. 90,200 crore
2. % Rs. 95,600 crore
3. ¥ Rs. 99,300 crore
4. # Rs. 110,800 crore

Question Number : 49 Question Id : 59445932465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrem &1 & o H Foie 2020-21 H fhaq €4 3ded &t OIYoN &t 718 82
Options :

1. % 90,200 RIS &Y

2. % 95 600 RIS U

3. ¢ 99,300 PRIS ¥UY

4. % 110,800 RIS &Y

Question Number : 50 Question Id : 59445932466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many more airports will be developed by 2024 for the Udaan scheme as per the Union Budget 2020-21?
Options :

1. % 50

2. % 75

3.4 100

4. % 120

Question Number : 50 Question Id : 59445932466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2024 % IS AISHT & Sfdid frdm 3R gars-318 daR o Sy
Options :

1. % 50



2. %75
3.4 100
4. % 120

Question Number : 51 Question Id : 59445932467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements has zero valency?
Options :

1. # Lithium

2. % Beryllium

3. # Fluorine

4. ¥ Helium

Question Number : 51 Question Id : 59445932467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRed & 4 -3 I | Tareiaar 0 82
Options :

1. % farfm

2. % qiferqw

3. % TRIRHA

4. ¢ giferay

Question Number : 52 Question Id : 59445932468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is present in chalk?
Options :

1. # Sodium Chloride

2. ¥ Calcium Carbonate



3. # Potassium Nitrate
4. % Sodium Hydroxide

Question Number : 52 Question Id : 59445932468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed § 3 91 o o1 Iufyd g7
Options :

1. ® OfeTH RIRES

2. ¥ HIRIH P&

3. % UiefRad Aigee

4. % QST gIESIRISS

Question Number : 53 Question Id : 59445932469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following foods has the highest percentage of proteins per unit mass?
Options :

1. # Cow-milk

2. % Egg

3. ¥ Meat

4. % Fish

Question Number : 53 Question Id : 59445932469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 fva @ uard § ufd 3o1s Soum™ # UISH o e 3ifieh ufarerdd 2
Options :

1. ® Mg pTgY

2. % 38

3. ¥ HIY



4. ® AIA

Question Number : 54 Question Id : 59445932470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organism-classification does Anabaena belong to?
Options :

1. ¥ Monera

2. # Protista

3. # Fungi

4. # Plantae

Question Number : 54 Question Id : 59445932470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR & P a1 e i GIsT & Geift 27
Options :

1. ¢ HIRT

2. % Tifewer

3. % ddh

4. % icl

Question Number : 55 Question Id : 59445932471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the absorption of water by plant roots an example of?
Options :

1. # Photosynthesis

2. % Osmosis

3. # Transplantation

4. # Endocytosis



Question Number : 55 Question Id : 59445932471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uil 1 STS1 gRT Sel &1 Sanyul FAgfeiad # 3 fhge Iamu g2
Options :

1. % TR0

2. ¢ TRIART(

3. % gicRgu

4. % TENTEORA

Question Number : 56 Question Id : 59445932472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the population density of India as per the Census 2011 (in per square km)?
Options :

1. ¥ 382

2. % 395

3. % 402

4. % 415

Question Number : 56 Question Id : 59445932472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIFRTOMAT 2011 (U a1 fostft &) & SR YR &1 SIHERET BTcd fbaT /2
Options :

1. ¥ 382

2. % 395

3. % 402

4. % 415




Question Number : 57 Question Id : 59445932473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers has the longest length?
Options :

1. ® Krishna

2. % Narmada

3. % Godavari

4. % Kaverl

Question Number : 57 Question Id : 59445932473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed o O fog 9 &1 ders o9 ot 52
Options :

1. % U

2. % Hq

3. ¢ Terad

4. % PIadt

Question Number : 58 Question Id : 59445932474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many distinct floristic-regions can India be divided into?
Options :

1. %5

2.% 6

3.% 7

4.9 8

Question Number : 58 Question Id : 59445932474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR ! fbe= I eufal & H SieT S Hohdl g2
Options :

1. %5

2.% 6

3.% 7

4. ¥ 8

Question Number : 59 Question Id : 59445932475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is also known as the winter-monsoon?
Options :

1. * South-east monsoon

2. # South-west monsoon

3. ¥ North-east monsoon

4. % North-west monsoon

Question Number : 59 Question Id : 59445932475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead @ 9 fd 2fidere=-0rE & = u § o S e g2
Options :

1. % GIEMU-gd ARG

2. % TIEUI-UIEH HA

3. ¢ aitR A

4. % JTR-UEH YA

Question Number : 60 Question Id : 59445932476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year's session of the Indian National Congress was Vande Mataram sang for the first time?



Options :
1. ¥ 1896
2. % 1897
3. % 1898
4. % 1899

Question Number : 60 Question Id : 59445932476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR PTA B1UE & fobd a8 & 9 H ¢ HIGRH Ugel! SR 771 717 T2

Options :
1. ¥ 1896
2. % 1897
3. % 1898
4. % 1899

General Awareness2
Group Number : 4
Group Id : 594459419
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2
Section Id : 5944591141



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591308
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 59445932477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cities was the Sangam assemblies held?
Options :

1. ¥ Madurai

2. % Thiruvarur

3. % Thiruvallur

4. % Nagapattinam

Question Number : 61 Question Id : 59445932477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad o 9 ford <rex & | &1 9IS ST &t 715 o
Options :

1. v Tge

2. % faeax

3. % EdaeR

4. % AETUfSAH

Question Number : 62 Question Id : 59445932478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following languages were the Mangalkavyas written?
Options :

1. * Hindi

2. * Braj

3. ¥ Bengali

4. % Pali

Question Number : 62 Question Id : 59445932478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hirerarer faferiRad | & fobg wmw # forg T A
Options :

1. % fgd

2. % ol

3. ¢ ST

4, % Tl

Question Number : 63 Question Id : 59445932479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did Timur captured Delhi?
Options :
1. ¥ 1398
2. % 1405
3. % 1409
4. % 1414

Question Number : 63 Question Id : 59445932479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



dR A el W fow oy Feat foram Ut
Options :
1. ¥ 1398
2. % 1405
3. % 1409
4. % 1414

Question Number : 64 Question Id : 59445932480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following days is the Padma Awards announced?
Options :

1. ¥ On the eve of the Republic Day

2. # On the eve of the Independence Day

3. # On Shaheed Diwas

4. # On the Independence Day

Question Number : 64 Question Id : 59445932480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U= QREHRI $1 Gy Fafied # 9 iy & 31 &l g2
Options :

1. ¢ TuraA fad o1 gd den o

2. % FaAdl fGay @1 gd den o

3. ® TEIQ [Ga W

4. % WAl [Gaq |

Question Number : 65 Question Id : 59445932481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who out of the following had served as the first Indian Commander-in-Chief of the Indian Army?



Options :

1. % General Maharaj Rajendra Sinhji
2. ¥ General K.M. Cariappa

3. # General Sam Manekshaw

4. # General Arjan Singh

Question Number : 65 Question Id : 59445932481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 fram R 391 & UUYH HRA $HISI-31-31% & &U H S fmar ur

Options :

1. ¥ SR HER oG gt
2. ¢ SRA &.TH. HRIWT

3. ® SRS 9H AT

4. % SRA 3o g

Question Number : 66 Question Id : 59445932482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "The God of Small Things"?
Options :

1. ¥ Arundhati Roy

2. % Jhumpa Lahiri

3. # Karan Thapar

4. % Arvind Adiga

Question Number : 66 Question Id : 59445932482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g TS 3{Tth WHid I Gde & g i g2
Options :




1. ¢ 3BY AT
2. % T dTfed
3. % DT YR
4. % 3Rfa~q srfgmm

Question Number : 67 Question Id : 59445932483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the CEO of Twitter?

Options :

1. * Noah Glass

2. % Jack Dorsey

3. % Evan Williams

4. % Paul Singer

Question Number : 67 Question Id : 59445932483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgey & g3 B 82

Options :

1. % 131 ey

2. ¥ 3P SR

3. % 39 fafergwy

4. % Ui RITR

Question Number : 68 Question Id : 59445932484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Mukesh Ambani's rank in the latest world billionaires list by Forbes?
Options :

1. % 15



2. % 16
3.¥ 17
4. % 18

Question Number : 68 Question Id : 59445932484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I gRT AdI-aH 3% sREufadl &1 Yt T b SaT! &1 3 a1 82
Options :

1. #® 15

2. % 16

3.¥ 17

4. % 18

Question Number : 69 Question Id : 59445932485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days was observed as the Women's Day in 2020?
Options :

1. ¥ March 5th

2. # March 6th

3. % March 7th

4. ¥ March 8th

Question Number : 69 Question Id : 59445932485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed & & foog f&=1 &1 2020 H Afgel fGaw & &0 ® H=m1 T
Options :

1. % 59
2. % 6T



3.% 709
4.« TS

Question Number : 70 Question Id : 59445932486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states has become the first to geotag community kitchens?
Options :

1. * Gujarat

2. % Mabharashtra

3. % Uttar Pradesh

4. % Madhya Pradesh

Question Number : 70 Question Id : 59445932486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # I &9 91 Iy Iefid Jed! & forteTT $RA arel UYH Tod & 7T 82
Options :

1. * J[SRId

2. % HeRIY

3. ¢ WY

4. % TEOYSE

Question Number : 71 Question Id : 59445932487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following space agencies are involved in the Crew Demo-2 mission?
Options :

1. ¥ NASA and SpaceX

2. % SpaceX and ESA

3. % NASA and ESA



4. % JAXA and NASA

Question Number : 71 Question Id : 59445932487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& S -2 TR § Faffed o 9 o9 I sialer i el 82
Options :

1. ¢ ST 3R WU

2. % WHTH 3R STHY

3. % =7 SR SUHT

4, % SISRAT 3R AT

Question Number : 72 Question Id : 59445932488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state governments had launched the "Assess Karo Na" app for fighting COVID-19?
Options :

1. # Gujarat

2. ¥ Maharashtra

3. % Delhi

4. #® Rajasthan

Question Number : 72 Question Id : 59445932488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad o 9 forg Io0 ReR A FIfds-19 | T8 & o1E "gedier HR1 A1 U Al fohar U1
Options :

1. % TSRId

2. ® HeRIY

3. ¢ faecit

4, % ST



Question Number : 73 Question Id : 59445932489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution empowers each House of the Parliament to make rules for regulations, subject to the
provisions of this Constitution, its procedure and the conduct of its business?

Options :

1. ¥ Article 118(1)
2. % Article 118(2)
3. % Article 118(3)
4. % Article 118(4)

Question Number : 73 Question Id : 59445932489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed § § YR AfAUT™ &1 ST 3w T &1 Ud® THT DI 30T Ufeha 3R o= w1 Yareq ! fafafid &= & fog fad
I DI Mo T HRal 572

Options :

1. ¢ 3¢ 118 (1)
2. % 3fT=C 118 (2)
3. % 3w 118 (3)
4. % TG 118 (4)

Question Number : 74 Question Id : 59445932490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Fazl Ali Commission appointed?
Options :

1. % 1951

2. % 1952

3.9 1953

4. % 1954



Question Number : 74 Question Id : 59445932490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wHoTd 3felt SN &1 Fgfad fog o &t 113 ot
Options :

1. % 1951

2. % 1952

3.9 1953

4. % 1954

Question Number : 75 Question Id : 59445932491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following countries did the concept of Public Interest Litigation originate?
Options :

1. ® Russia

2. # Canada

3. ¥ USA

4. # TIreland

Question Number : 75 Question Id : 59445932491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 forg <21 § SHikd aifueT &1 S[ayRonm 344 gs
Options :

1. % Y

2. % DhdlSl

3. « T T SARBT

4. % RS




Question Number : 76 Question Id : 59445932492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following constitutional amendment had replaced the Collegium System of appointing judges to the Supreme Court and High
Courts with the National Judicial Appointments Commission (NJAC)?

Options :
1. % 96th
2. % 97th
3. % 98th
4. ¥ 99th

Question Number : 76 Question Id : 59445932492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # @ S Sfaum Jene= siffrad grRT Ydi amared iR 3= =ararerdl § <arareien &1 Fgfaa & fon srika siafoad
R &1 T U AP A1iies 3gfert SIRANT (NJAC) & UfduTiud fobar

Options :

1. % 96-df

2. % 97.4]

3. % 98.qf

4. 994

Question Number : 77 Question Id : 59445932493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams has won the Pro Kabaddi League 2019?
Options :

1. % U Mumba

2. % Dabang Delhi K. C.

3. % Bengaluru Bulls

4. ¥ Bengal Warriors



Question Number : 77 Question Id : 59445932493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o 9 forg & 3 W Hag! i 2019 ST g2
Options :

1. ® g Hul

2. % qoT fawcti &, .

3. % SIS g8

4. STe IR

Question Number : 78 Question Id : 59445932494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following games was Prakash Amritraj associated?
Options :

1. # Golf

2. ¥ Tennis

3. % Badminton

4. % Football

Question Number : 78 Question Id : 59445932494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UehTRI RIS Dl Hay e # & foog e 9 U1
Options :

1. % Tt

2. ¢ ¢

3. % qsfifed

4. % Ppedld

Question Number : 79 Question Id : 59445932495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who out of the following doesn't feature among the Wisden Five Cricketers of the Year by the 2020 edition of the Wisden Almanack?
Options :

1. # Pat Cummins

2. # Marnus Labschagne

3. % Rohit Sharma

4. # Jofra Archer

Question Number : 79 Question Id : 59445932495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasTe TeHA® & 2020 TXHRU GRT IS8 Wi b 3T ¢ saR & Fufafea & @ &1 wnfie 76 82
Options :

1. % U ity

2. % AHY AgIaY

3. ¢ JAfgd zAl

4. % ST 3R

Question Number : 80 Question Id : 59445932496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following teams did Pele play for?
Options :

1. * Argentina

2. ¥ Brazil

3. ¥ Spain

4. % Portugal

Question Number : 80 Question Id : 59445932496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3l
2. ¥ STl
3. % WO

4. % qama
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Question Number : 81 Question Id : 59445932497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

David, John and Johny start at the same time in the same direction to run around a circular stadium. David completes a round in 126 seconds,
John in 154 seconds and Johny in 198 seconds, all starting at the same point. After how much time will they again at the starting point?

Options :

1. ¥ 23 minutes 6 seconds
2. ¥ 27 minutes 8 seconds
3. % 20 minutes 16 seconds

4. % 19 minutes 22 seconds

Question Number : 81 Question Id : 59445932497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfas, 9 IR S U & IHa R T &1 fo=0 H T MAdR RISTH & IR} 3R IS Y& o3d o | Sfa8 A 126 Yde H, S 7 154
Jdrg T 3R ST A 198 Vb s | Ueh g [ fodT | fora THg & 91 9 bR § a3 foig R g

Options :

1. ¢ 23 e 6 s

2. % 27 PFC s Td s

3. % 20 fiFe 16 T s

4. % 19 fiAc 22 ¥Hs

Question Number : 82 Question Id : 59445932498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression by using BODMAS.

17+[2-{(-8)+3+(18%x3+1-13%3)}]
Options :

1. *® 16

2. % -16



3.¥8
4. % 8

Question Number : 82 Question Id : 59445932498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad THIHRUT ® BODMAS & SUIRT T IRA Hig |

17+[2-{(-8)+3+(18%x3+1-13%3)}]
Options :

1. ® 16

2. % -16

3.8

4. % -8

Question Number : 83 Question Id : 59445932499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction from the following.

2? 51 21 31
137 40" 63" 12

Options :
7

G

1. # 13
1
H—
2. % 40

1
Z2—
3. 63



Question Number : 83 Question Id : 59445932499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad # 3 we oier fis J1d S|

2? 51 21 31
13" 40" 637 12

Options :

7
2_
1. # 13

1
e
5, w40

1
22—
3.7

4 B 12

Question Number : 84 Question Id : 59445932500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

57984372 is exactly divisible by which of the following?
Options :

1. %7

2. % 24



3.% 14
4. v 18

Question Number : 84 Question Id : 59445932500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
57984372 fafaRad @ ¥ feaw gofa: faursa &2
Options :

1. % 7

2. % 24

3.% 14

4, ¥ 18

Question Number : 85 Question Id : 59445932501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

625525 x252.6
625675 x51.2

Find the value of

Options :
1. %1
2.% 5
3.925
4, % 125

Question Number : 85 Question Id : 59445932501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

625925 %9526
— cers iz D1 I A1 Hifere

Options :
1. %1




2.% 5
3.¥ 25
4. % 125

Question Number : 86 Question Id : 59445932502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 11 players of a cricket team is decreased by 2 months when two of them aged 17 years and 20 years are replaced by two new
players. What is the average age of two new players?

Options :

1. * 17 years 1 month
2. % 17 years 7 months
3. ¥ 17 years 11 months
4. % 18 years 3 months

Question Number : 86 Question Id : 59445932502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fhbe A F 11 Faanfsai & ¥ 17 adf qut 20 I8 & 3 & 3 faefsal & M R @ 72 fRIafsal & om T g9 3id 3mg 2 HeA
HA B3| 3 T sl &1 3iga g fpeait 32

Options :

1. % 1799 1 HgIAT

2. ¥ 1798 7 HGIHT

3. % 1799 1] HeHT
4. % 18399 3 HEHT

Question Number : 87 Question Id : 59445932503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a mobile is Rs. 180. A person buy it in Rs. 137.7 after two successive discounts in which one is 10 percent, then find the
other discount rate?

Options :



1. # 12 percent
2. % 12.5 percent
3. % 15 percent
4. % 20 percent

Question Number : 87 Question Id : 59445932503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AaTed B 3ifchd Yoo 180 T § | U SAad 9 10 UFA=Id dUT U 39 hiid ¢ W 137.7 ©00 H WAl 8, df gasl ¥ a2 A1d
DI

Options :

1. % 12 gfderd
2. % 12,5 Yfa=rd
3. 15 Ufard
4. % 20 gfaerd

Question Number : 88 Question Id : 59445932504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average marks of 12 students in a paper are 46. If the marks of two new students are consider, the average marks increases by 4. What are the
average marks of two new students?

Options :
1. % 78
2. % 66
3. 74
4. %70

Question Number : 88 Question Id : 59445932504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W%ﬂ?ﬁ 12 B P 3T 37 46 &1 TS G TT BT P 3ich! D! M foban STa 2, 3Nd 3ich 4 A 9¢ WId &1 &l 7T B! & 3i9d 3k
Gy



Options :
1. % 78
2. % 66
3.¥ 74
4. % 70

Question Number : 89 Question Id : 59445932505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 48 workers and 2 managers in a company. The salary of one worker of them is twice the salary of another worker. If these 2 workers
are replaced by 2 managers whose salaries are Rs. 32000 and Rs. 22000, the average salary of workers increases by Rs. 500. Find the total salary
of replaced two workers.

Options :

1. ¥ Rs. 24000
2. % Rs. 30000
3. % Rs. 25000
4. * Rs. 32000

Question Number : 89 Question Id : 59445932505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH B H 48 YA 3R 2 Yaieeh § | I T U ¥ H1 I Th gIR 4 & Ia- A SRMAT 8 | TS 37 2 4T &Y 2 Usieeh! g
WWW%,WWQOOOWﬁvzzooom%ﬂ‘r%@ﬁwaﬁﬂaaﬂ?soomwwéluﬁwﬁa@rmﬁﬁm
D T DI

Options :

1. % 24000 9T
2. ¢ 30000 9T
3. % 25000 ¥0Y
4. % 32000 9T

Question Number : 90 Question Id : 59445932506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Nine persons went to watching a movie. Eight of them spent Rs. 72 each for their tickets and the ninth spent Rs. 8 more than the average
expenditure of all the nine. What was the total money spent by all of them?

Options :

1. ¥ Rs. 657
2. % Rs. 712
3. # Rs. 804
4, ¥ Rs. 613

Question Number : 90 Question Id : 59445932506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T cfdd fired Sam | 399 9 318 7 3o fedhel & ot Ul R 72 U3 Wd foh iR Aid 3w+t 1 & ofiqd W &1 ga1 & 8 &
3 T fop | 39 Tt gRT W D1 715 Hot A favat ot 2

Options :

1. ¢ 657 0
2. % 712 ® WY
3. % 304 &I
4. % 613¥0Y

Question Number : 91 Question Id : 59445932507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between two candidates A and B, A won by a majority of 4000 votes in 2002. In 2005 the number of voters increased by 25
percent, votes for B increased by 50 percent over that in 2002 and thus B won by a majority of 15000 votes. Find the votes polled for B in 2002.

Options :

1. % 38500
2. % 32000
3. % 44000
4. % 40000

Question Number : 91 Question Id : 59445932507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& SHIGART A 3R B & &9 U TG |, A 7 2002 H 4000 Tel & TgHT I Siid Gol 1| 2005 H TGS Bt WA H 25 Ufa=id &1 IfS 65,
2002 B AT H B & dlel # 50 Tfa=rd & g §s 3R ST aE B 7 15000 el & IgHd I Sitd g1d 11 2002 H B & forg HagH fd Mg
dle 31d BT

Options :

1. % 38500

2. % 32000

3. % 44000

4. 40000

Question Number : 92 Question Id : 59445932508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a state X, income tax of 8 percent is levied on annual income in excess of Rs. 5 lakh and 10 percent of annual income in excess of Rs. 10 lakh.
If a person pays a total tax of Rs. 120000, then find his annual income.

Options :

1. ¥ Rs. 16 lakh
2. ¥ Rs. 19 lakh
3. # Rs. 17 lakh
4. ¥ Rs. 18 lakh

Question Number : 92 Question Id : 59445932508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I X H, 5 TR 393 F 34f¥ep a1ftiep 31 UR ¢ UfIRId &7 3R SR 10 ARG 3UT  HfYh a1ites 3 TR 10 UFIRIG BT SIS AT
ST & | ATG 1S SATad $a 120000 ST BT B 3T AT 6, Al SUD! T AT I Do |

Options :

1. % 16 RG 3T
2. % 19 ARG 3T
3. % 17 G390
4. ¥ 18 ARG 3T




Question Number : 93 Question Id : 59445932509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election only two candidates contested, 20 percent of the voters did not caste their vote and 120 votes were declared invalid. The winner got
200 votes more than his opponent which he secured was 41 percent of the total votes on the voter list. Percentage of the votes of the defeated
candidate out of the total votes cast is:

Options :

1. # 38 percent
2. % 37.5 percent
3. % 36 percent
4. ¥ 45 percent

Question Number : 93 Question Id : 59445932509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH g1d H ad &l SHIGAR ¥ 20 UTI=Id Aderarsdl = 7d Ta1 ST 3R 120 Ad a8 Dvd fobT Y| St a1d SEigdR A g¥R SHEgaR
¥ 200 T 31D Ut fob T , St HAGTAT Gl b Hod Tl DT 41 UIARIG AT | FRA dTel IWGAR 1 el STl 7T Tl b1 fabel=1 Ufa=rd Hd Ured
g 2

Options :

1. % 38 Ula=Id

2. % 37.5 Yla=Id

3. % 36 Ufc=Id

4. 45 Yf=rd

Question Number : 94 Question Id : 59445932510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is 40 percent more than its cost price. The shopkeeper gives a discount of 28.57 percent on marked price. On
request, he gives another discount that was equal to 12.5 percent of the cost price. What was the approximate loss percent of shopkeeper?

Options :
1. # 10.5 percent
2. % 12.5 percent



3. # 15 percent

4. # 8 percent

Question Number : 94 Question Id : 59445932510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9] P1 3HfSHd Y SHH! AT G | 40 UFIRIT S &1 GHHQR 3Hfhd Ted TR 28.57 UM BT Fe <al 81 SRIY W, I8 Th 3R
Wﬁﬂ%ﬁf%ww% 12.5 Ufa=Td & SRTeR Y| GHMGR b1 AT Jhu Ufa=Td fovar um

Options :

1. % 10.5 Ufa=rd
2.+ 12.5 Ufaerd
3. % 15 gfad
4. % g yfard

Question Number : 95 Question Id : 59445932511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A manufacturer sells all its items at Rs. 60 each. The materials cost is Rs. 40 for each item and he has overhead expenses of Rs. 3000 per week in
order to operate that plant. What is the number of units he should produce and sell in order to make a profit of Rs. 1000 per week?

Options :
1. % 400
2. % 300
3. % 250
4.9 200

Question Number : 95 Question Id : 59445932511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafdr st it aegsil @1 60 TU TS 1 o U 99T § | AP a%g o 1070 AR B ANTd 40 9 ¢ 3R 93 &1 ufd I
mw%aﬂ?%%mooomm&rﬁﬁaa@ém%w 1000 ¥ U T8 BT TH HHH & ford I fra-t axgait o1 Iare iR gl
?

Options :




1. * 400
2. % 300
3. % 250
4. % 200

Question Number : 96 Question Id : 59445932512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After selling a watch, Pankaj found that he had made a loss of 20 percent. He also found that had he sold it for Rs. 27 more, he would have made
a profit of 10 percent. The actual initial loss was what percentage of the profit earned, had he sold for a 10 percent profit?

Options :

1. # 150 percent
2. % 100 percent
3. ¥ 200 percent
4. % 123 percent

Question Number : 96 Question Id : 59445932512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP g8! 991 WR, Udhol 3 Ul fb I 20 Ufa=rd &1 817 g5 | a8 I8 i uran § 6 afe 3uA 27 93 sarer & o= i, at 39 10 Ufa=rd &1
TTH YT BiaT | IR YHATA BT, 10 YIRS TH R 9 TR HHY T AT HT fha ufaerd g2
Options :

1. % 150 gfa=rd
2. % 100 Ufa=rd
3. ¢ 200 Ufd=rd
4. % 123 gfa=rd

Question Number : 97 Question Id : 59445932513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit seller sold 200 apples on some day and he made a profit equal to the selling price of 40 apples while on the next day, he sold 200 apples
and suffered a loss equal to selling price of 40 apples. Find the difference between percent profit and percent loss made in two situations.



Options :

16 - %
3

Question Number : 97 Question Id : 59445932513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T W fadha A farelt &= 200 T o2 TUT 40 Vel o fAhT T & sRISR ATH §3HT | STaifb 3RTet fa1 39 200 A {6 oA quT 40 i &
S d I & SRIeR 81 g8 | 39 a1 aRfRufaal & @y Uf=id auT 8T Uii=Id &1 SfaR 31 g2

Options :




Question Number : 98 Question Id : 59445932514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A school has 630 students. The ratio of the number of boys to the number of girls is 3 : 2. This ratio changes to 7 : 5 after the admission of 90
new students. Find the number of newly admitted boys.

Options :
1. % 35
2. % 49
3.9 42
4. % 28

Question Number : 98 Question Id : 59445932514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A | 630 BT 5| TSP! Bt WAV TSfHa Bt TSAT BT UM 3 : 2 B 1 90 TU B & YA & §1G g U 7 : 5 81 Sl g1 T Jaw
U ASD] Bt AT JTd DI

Options :

1. % 35

2. % 49

3.9 42

4. % 28

Question Number : 99 Question Id : 59445932515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a milk and water solution, the ratio of milk to water is 1 : 4. M litres of milk is added in it and ratio become 1 : 3. Again N litres of water is
added in it and ratio become 2 : 7. If N — M = 4, then what is the initial quantity of solution?

Options :



1. * 45 litres.
2. % 80 litres.
3. % 50 litres.
4. ¥ 60 litres.

Question Number : 99 Question Id : 59445932515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gY SR U & yor &, g SR U 7 SUTd 1: 4 81 S0 M diex gl e SIrar § SR Surd 1 : 3 8 ot g | bR ¥ 39d N after umit
FAQTa ST § 8T SUTd 2 : 7 81 ST 81 afe N - M = 4, d fisyor 1 uRfves A farait 8 2

Options :

1. % 45 dflex

2. % 80 dlex

3. % 50 dllex

4. v 60 AR

Question Number : 100 Question Id : 59445932516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a carton containing a dozen mirrors is dropped, which of the following cannot be the ratio of broken mirror to unbroken mirrors?
Options :

1.¥2:3
2.% 3:1
3.%1:2
4. % 7:5

Question Number : 100 Question Id : 59445932516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U S T W U goi-l qUull o) FRra s B, o Feforiaa # 9 &9 31 ¢ gu adur au fomT €2 gu ouur &1 3urd =g 81 gahd?

Options :



1.¥2:3
2.% 3:1
3.%1:2
4. % 7:5
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Question Number : 101 Question Id : 59445932517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 6120 is divided among A, B & C such that A gets 2/3 of what B gets and B gets 1/4 of what C gets. What is the share of B (in Rs.)?
Options :

1. % 540

2. % 720

3.9 1080

4. % 1440

Question Number : 101 Question Id : 59445932517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6120 T BT A, B 3R C H 39 UHR faaid far mar 8 f5 A 1 B 61 2/3 HFTTUT B & € &7 1/4 U A | B &7 e vud 7) framn 82
Options :

1. * 540

2. % 720

3. ¥ 1080

4. % 1440

Question Number : 102 Question Id : 59445932518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two persons Amar and Baala lent out Rs. 15000 each at simple interest for 5 years. The difference between the simple interest received by them
1s Rs. 3000. If the sum of the annual rates of interest is 11 percent per annum and Amar received more interest than Baala, then what is the
interest received by Amar?

Options :

1. % Rs. 6500
2. % Rs. 5625
3. % Rs. 5875
4. % Rs. 6250

Question Number : 102 Question Id : 59445932518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3l Sufad 3R 3R 1T 5 98 o fofT TR &7l TR YA 7 15000 A IYR U1 I8 gRT U YR SIS & d19 BT 3R 3000 TUI
g1 Tfe s o1 a1 =1 BT ANT 11 Ufa=rd Ui g SR 3R &1 §1aT B qa-1 H 31fees sarst fiyea g, df 3R gRT UTW &S fhaT 82

Options :

1. % 6500 =04
2. ¥ 5625 F0Y
3. % 5875 ®0Y
4. % 6250 T0Y

Question Number : 103 Question Id : 59445932519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a certain rate of compound interest a certain sum amounts to Rs. 64800 in 4 years and Rs. 93312 in 6 years. What is the compound interest
earned in fifth year?

Options :

1. ¥ Rs. 12960
2. % Rs. 10240
3. # Rs. 11600
4, % Rs. 14425

Question Number : 103 Question Id : 59445932519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aw%maﬁwﬁf%amwﬁr@ﬁﬁmﬁﬁ648002?@3%?66&?%3312 FUY g1 11 8 | Uierd a9 &1 SHfofd ahgfa &
foraT 82

Options :

1. ¢ 12960 =TT
2. % 10240 9T
3. % 11600 ®9Y
4. % 14425 F0Y



Question Number : 104 Question Id : 59445932520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The S.I. on a certain sum of money for 4 years at 4 percent per annum exceeds the C.1. on the same sum for 3 years at 5 percent per annum by Rs.
57. Find the approximate sum.

Options :

1. % Rs. 16000
2. % Rs. 20000
3. ¥ Rs. 24000
4. % Rs. 30000

Question Number : 104 Question Id : 59445932520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaft AT IR IR 4 U1 <11 1 &R 4 I8 &1 YR TS, IHT AR W 5 TR ST &R U 3 T4 & Tehglag oo F 57 TG 3fee
B T A 1 BT

Options :

1. % 16000 9T

2. % 20000 9T

3. ¢ 24000 TTY

4. % 30000 9T

Question Number : 105 Question Id : 59445932521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple and compound interest that can be earned in two years at the same rate on a certain sum is Rs. 1,000 and Rs. 1,040 respectively. What
is the rate (percent per annum) of interest?

Options :
1. %9
2. %10
3.8
4. % 11



Question Number : 105 Question Id : 59445932521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 98 H U B aR U FAfa AR IR B 1,000 TUY 3R 1,040 TUY 6T TR AT 3R Aehgfe sTet SfSTd fam ST Gahdl 8| <
R (ufrerd ufa atf) fpa 22

Options :

1. %9

2.% 10

3.4

4.% 1]

Question Number : 106 Question Id : 59445932522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I walk a certain distance and ride back taking a total time of 37 minutes. I could walk both ways in 55 minutes. How long would it take me to ride
both ways ?

Options :
1. %95
2.9 19
3. % 38
4. % 46

Question Number : 106 Question Id : 59445932522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 T YT g8 &) Iaier ag B SR ST A a0 3 H 37 e 1 Sl THY @l 8 | H Gl IR gaas 39 55 e Haa e
FHATE | G ok el ¥ g1 1 0 B | Gl fbaH1 98 @@ 2

Options :

1.%95

2.¢ 19

3. % 38




4. % 46

Question Number : 107 Question Id : 59445932523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An express train travelled at an average speed of 100 km/hr, stopping for 3 minutes after every 75 km. How long it take to reach its destination
600 km from the starting point?

Options :
1. % 6hr
2.% 6 hr 21 min
3. % 6 hr 24 min
4. % 6 hr27 min

Question Number : 107 Question Id : 59445932523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TRID 2 100 farelt / Tt Bt 3igd 71fd T g2t a0 Hcll § 3R U 75 fhaiier & 91g 3 fre & forg T« 81 39 uRfyes fig 9
YA Tided 600 fit db Uga o favd= 99y T

Options :

1. % gHc

2. ¥ 64c 21 fiFe

3. % ¢4¢ 24 fiFIC

4. % ¢dc 27 fiIe

Question Number : 108 Question Id : 59445932524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karan had covered two third of a certain distance when his car had a breakdown. He parked it and covered the remaining distance on foot. His
time of travel on foot was 9 times his time of travel on car. What is the ratio of his walking speed with respect to his car’s speed?

Options :
1.%1:24
2. % 1:36



3.%1:20
4.+ 1:18

Question Number : 108 Question Id : 59445932524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR A 3T R &b TRIE 84 db T i g & < figTs oxd & o foan| 39 981 &R &1 Wal fhar 3R AW g3 &1 Ued gt ad |
U d AT &1 SUHT T HR Y IET & T FT 9 AT AT 3P Ugd Ia- $I T BT STD! HR B 7T F SUTd o1 82

Options :

1. % 1:24

2. % 1:36

3.%1:20

4.41:18

Question Number : 109 Question Id : 59445932525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Twenty five workers were employed to complete a wall in 12 days. Five workers left the work after working of 5 days. By what percent of each
of remaining 20 workers should increase their efficiencies to complete the work in given time?

Options :

1. #* 20 percent
2. % 25 percent
3. # 30 percent
4. % 18 percent

Question Number : 109 Question Id : 59445932525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 f&1 7 U SR &1 R B & oIQ U= Yifens] ot T 7411 5 i D10 B & §1¢ Ui HiHd! 4 B0 8IS 3811 11 &1 97g IR
ORI R o [o1T [ 20 YiHe] & I TS B fdva Ufa=rd I Ut &war g1 gy 2

Options :

1. % 20 gfa=rd




2. 25 gfawd
3. % 30 gfad
4. % 18 Ufa=Id

Question Number : 110 Question Id : 59445932526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The work done by (x-2) men in (4x+1) days and the work done by (4x+1) men in (2x-3) days are in the ratio 2:5. In how many days (x+4) men
do (12x2+15) work?

Options :

25~
8

1. ¥

Question Number : 110 Question Id : 59445932526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(x -2) IO GRT (4x + 1) AT H 3R (4x + 1) T gRT (2x - 3) R A fhu U SR 2: 5 & Sgura & § 1 fooaa G & (x + 4) ToW (12x2 +
15) BT &) HId 82

Options :



Question Number : 111 Question Id : 59445932527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pipe can fill a tank in 4 hours, while a leak which is at one-fourth of the height of the tank from bottom can empty upto that part in 2 hours. If
both are operated simultaneously and initially the tank is full, then when it will be one-fourth full?

Options :

1. # 7.5 hours
2. % 8 hours
3. % 6 hours

4. * 5 hours

Question Number : 111 Question Id : 59445932527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UISY 4 G¢ H TP TH1 HR Uhdl 5, 6 U 55 Sfl -1d ¥ Tbl DI UP-TIITS BT SHAls W 5, 39 o db 34 2 °9¢ H JTell X Tl
g1 9 S U Ty Taferd 81 § 9T I A ot U 82 ©, Al I8 Uh-AUTE I i R ST

Options :

1. % 75%¢




2. % g4
3. ¢ 6Hc
4. % 59c¢

Question Number : 112 Question Id : 59445932528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the total surface area of a solid hemisphere is 108 w sq cm. What will be the volume of the hemisphere?
Options :

3
| & /2mcm

-~ 1447w cm?

- 1086 cm®

L% 544/6 cm®

Question Number : 112 Question Id : 59445932528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe U o1 M o1 Trgul gy &=t d 108 7 a7 T B 1 e BT 3maa om g2

Options :

1. ® 127 @g;hﬂ
| o 144naar



. . 108v6 G’
L« 5H/6GAT

Question Number : 113 Question Id : 59445932529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio between the length and the breadth of a rectangular park is 3:2. If a person walks along the boundary of the park at the speed of 10
km/hr completes one round in 12 minutes, then what is the area of the park?

Options :

1. # 302000 sq. m
2. % 300000 sq. m
3. % 180000 sq. m
4. % 240000 sq. m

Question Number : 113 Question Id : 59445932529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THh ATIAHR U B! AaTs 3R dISls & & BT SJUTd 3: 2 § | Al g aAfad 10 Tt/ €T & 1fd ¥ urdh &t a1 & Jri-ary 12 e &
TP Fah T BT 5, Al UTdh T % d 1 82
Options :

1. % 302000 g7 Ht
2. % 300000 ¥ Ht
3. % 180000 a7 4t
4. ¥ 240000 97 Ht

Question Number : 114 Question Id : 59445932530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The diameter of the hemisphere is 14 cm and the total height of the



vessel is 12 cm. What is the inner surface area of the vessel?
Options :

1. # 476 sq cm

2. % 528 sq. cm

3. % 578 sq. cm

4. % 612 sq.cm

Question Number : 114 Question Id : 59445932530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S Uh TrRaa ey & HHR A g S U Wad Sa 9 ST g3 ¢ | e o1 oI 14 911 § SR §aH &1 $d HdTs 12 I8 g1 el
@ SHTARD g8 g BT &THA T 52
Options :

1. % 476 a¥ QY
2. ¢ 528 T AT
3. % 578 I 9!
4. % 612 I A

Question Number : 115 Question Id : 59445932531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of areas of two circles A and B is equal to the area of a third circle C whose diameter is 30 cm. If the diameter of circle A is 18 cm, then
the radius of circle B is:

Options :

1. # 18 cm
2. % 15cm
3. 12 cm
4. % 10 cm

Question Number : 115 Question Id : 59445932531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



%P[?ﬁA 3R B & &7l &1 IRT U IR g1 o &Ahd o SRISR o o] 1 30 I, 5| afG g &1 A 18 94T 81, O g B &1 A

Options :

1. % 18 TN,
2. % 159H
3. ¢ 12 9.
4. % 10 99

Question Number : 116 Question Id : 59445932532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart carefully to answer the question given below.

Percentage expenses on variousitems during

book production and sale

Bullding &
cutting
charges, 18%

Printing cost,
5%

Advertisement
charges, 18%

Paper cost,

) 10%
Miscellaneous
expanses, 4%

Royality cost,
15%

What is central angle corresponding to “Advertisement charges”?
Options :

1. # 70.2°

2. % 50.2°

3. ® 60°

4. ¥ 64.8°



Question Number : 116 Question Id : 59445932532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferRad TS =1e 1 eMyde 3erd B e faT 71T U o1 Ik iU
faffi—= vo ¥ qras & scmega 3R bt ot = ufawa

e ik

el @ |

L fofeor @,
35%
frsoa |59
18%
TETA W,

10%

el @l e w,
15% 4%

ORI T ST HERT DI T B2
Options :

1. # 70.2°

2. % 50.2°

3. % 60°

4.¥ 448°

Question Number : 117 Question Id : 59445932533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie chart carefully to answer the question given below.



Percentage expenses on various items during
book production and sale

Bullding &
cutting
charges, 18%

Printing cost,
359%

Advertisement
charges, 18%

Paper cost,

Royality cost, Miscellaneé %
15% expanses, 4%

If the “Miscellaneous expenses” are Rs. 6000, how much more are “Binding and cutting charges” than “Miscellaneous”?
Options :

1. # Rs. 16000

2. % Rs. 15500

3. % Rs. 21000

4. % Rs. 24000

Question Number : 117 Question Id : 59445932533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad o a1 &1 earyde® sierae e A 3T T Uy &1 IR difvTe |




faffi= voR ¥ yras & scuiga 3R b oy @+ ufawa

CIEET i
Fel |
L forfar ),
A5%
forua =y
18%
TETA T,
10%
Yo o
15% 4%
gfe “fafya = 6000 3T g, a1 <fAfYd W & «arfEm iRk e W< fodan 3ifde g2
Options :
1. % 16000 ST
2. % 15500 Y
3. ¢ 21000 T
4. % 24000 3TY

Question Number : 118 Question Id : 59445932534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the table given below and answer the question based on it.

Percentage of Total Population for 2011 under Different Age Groups



Age Group | Percent

Upto 15 30
16-30 22
31-45 18
46-60 16
61-75 09
75 and 05
above

There are 45 lakh people above 45 years, then how many persons are there in the age group 16-30 years.
Options :

1. ¥ 33 Lakh

2. % 27 Lakh

3. % 36 Lakh

4. ® 25 Lakh

Question Number : 118 Question Id : 59445932534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g arferet &1 g ST 3R 3T TR MTeTRT U BT IR ST |
fafirst oMy avf & % 2011 B H G BT WA=



3 9T ufaerd

15 99 9 30
16-30 22
31-45 18
46-60 16
61-75 09

758 FW 03

45 9 BT MY W SR 45 ARG AT G al 16-30 Y DI 3G I A o AT 82
Options :

1. ¥ 33

2. % 27T

3. % 36T

4. % 25T

Question Number : 119 Question Id : 59445932535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the table given below and answer the questions based on it.

Percentage of Total Population for 2011 under Different Age Groups



Age Group | Percent

Upto 15 30
16-30 22
31-45 18
46-60 16
61-75 09
75 and 05
above

If there are 13.5 Lakh people in the age group 61-75, then what is the difference between the population in the age group 16- 30 and 46-60?
Options :

1. # 6 Lakh

2. % 9 Lakh

3. % 11 Lakh

4, % 712 Lakh

Question Number : 119 Question Id : 59445932535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ITfeTepT &7 3T BT 3R I TR MUTRT UY BT IR ST
faftm smg i & avf 2011 & Ha STEAT BT Wia=d



aiqfrfr ufaerd

15 a9 a6 30
16-30 22
31-45 18
46-60 16
61-75 09

758 FW 03

e 61-75 a8 & MG T H 13.5 ARG AT, <l 16-30 3R 46-60 3T T H SHERSAT HT R fara1 82
Options :

1. % 6@

2. ¥ 9dg

3. % 11 9rg

4. % 712G

Question Number : 120 Question Id : 59445932536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below represents the production (in tonnes) and sales (in tones) of steel in India from 2009-2014.

1000
810
E00

esoL ) 700 64 =
520 55 580 60
600 5
4
400
200
n = (LS K = | 5
2009

2010 2011 2012 2013 2014

B Sales M Production



What is the difference (in tonnes) in the average sale from 2012 to 2014 and the average production from 2009 to 2014?
Options :

1. ¥ 105

2. % 160

3. % 145

4. % 85

Question Number : 120 Question Id : 59445932536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=2 fem AT IR T 2009-2014 F HRA B W & I@Te (e9 H) 3R [t (@7 H) ol g=iar gl
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2012 2014 TP D1 3G fShT 3R 2009 F 2014 TH & 3T I | 3icR fora1 (e 7 82
Options :
1. ¥ 105
2. % 160
3. % 145

4, % 85
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English Language & Comprehensionl

Section Id : 5944591144
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591311
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445932537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

I cannot allow you go out of the examination hall until the invigilator comes and provides me some guidelines.
Options :



1. ¥ I cannot allow you go out of the examination
2. % hall until the invigilator comes and

3. # provides me some guidelines.

4. ® No Error

Question Number : 121 Question Id : 59445932537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

I cannot allow you go out of the examination hall until the invigilator comes and provides me some guidelines.
Options :

1. ¥ I cannot allow you go out of the examination

2. % hall until the invigilator comes and

3. # provides me some guidelines.

4. ® No Error

Question Number : 122 Question Id : 59445932538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The controversial issue was almost settled and it was my brother’s insincerity which upset the whole thing and disappointed us.
Options :

1. # The controversial issue was almost settled

2. # and it was my brother’s insincerity which

3. # upset the whole thing and disappointed us.

4. ¥ No Error

Question Number : 122 Question Id : 59445932538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

The controversial issue was almost settled and it was my brother’s insincerity which upset the whole thing and disappointed us.
Options :

1. # The controversial issue was almost settled

2. % and it was my brother’s insincerity which

3. # upset the whole thing and disappointed us.

4. ¥ No Error

Question Number : 123 Question Id : 59445932539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Kavita was so strong that she had not worried by their decision to suspend her.
Options :

1. # Kavita was so strong that she

2. % had not worried by their

3. # decision to suspend her.

4. % No Error

Question Number : 123 Question Id : 59445932539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select No Error.

Kavita was so strong that she had not worried by their decision to suspend her.
Options :

1. % Kavita was so strong that she

2. % had not worried by their



3. # decision to suspend her.
4. ® No Error

Question Number : 124 Question Id : 59445932540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. # Technological change affects more than just productivity, employment, and income inequality.

2. % Tt also creates opportunities for changes in the nature of work itself.

3. % Numerous studies have shown how a variety of new technologies have altered the way work was performed.

4. ® The workforce is now more demographically diverse than ever.

Question Number : 124 Question Id : 59445932540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :

1. #® Technological change affects more than just productivity, employment, and income inequality.

2. % Tt also creates opportunities for changes in the nature of work itself.

3. % Numerous studies have shown how a variety of new technologies have altered the way work was performed.

4. ® The workforce is now more demographically diverse than ever.

Question Number : 125 Question Id : 59445932541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :
1. # As the nature of the work environment continues to change, new trends have emerged in corporations.

2. % Although corporation are eager to cooperate with minority-owned businesses, a shortage of capital in the 1970’s made substantial response



impossible.
3. # The significant response of corporations in the 1970’s is likely to be sustained and conceivably be increased throughout the 1980’s.

4. ® The enormous corporate response has all but eliminated the dangers of over-expansion that used to plague small minority-owned
businesses.

Question Number : 125 Question Id : 59445932541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically correct while one is incorrect. Find out which
sentence is grammatically incorrect and select the appropriate option.

Options :
1. # As the nature of the work environment continues to change, new trends have emerged in corporations.

2. ¥ Although corporation are eager to cooperate with minority-owned businesses, a shortage of capital in the 1970’s made substantial response
impossible.

3. % The significant response of corporations in the 1970s is likely to be sustained and conceivably be increased throughout the 1980’s.

4. # The enormous corporate response has all but eliminated the dangers of over-expansion that used to plague small minority-owned
businesses.

Question Number : 126 Question Id : 59445932542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Most parents today would say that their kids have great opportunity then they did.

Options :

1. ¥ greater opportunities than
2. # great opportunity then

3. ® greatest opportunity than

4. # No improvement

Question Number : 126 Question Id : 59445932542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Most parents today would say that their kids have great opportunity then they did.
Options :

1. ¥ greater opportunities than
2. # great opportunity then
3. % greatest opportunity than

4. ¥ No improvement

Question Number : 127 Question Id : 59445932543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He sold all his possessions to fund the trip and says he has no plans to returning home.
Options :

1. % to returned home
2. % to return home
3. % to returns home

4. ¥ No improvement

Question Number : 127 Question Id : 59445932543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He sold all his possessions to fund the trip and says he has no plans to returning home.
Options :

1. # to returned home

2. % to return home



3. # to returns home

4. % No improvement

Question Number : 128 Question Id : 59445932544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In the past, promises have been made, kept and broken, and they are being make yet again.
Options :

1. # itis being made

2. % they are been make

3. % they are being made

4. ¥ No improvement

Question Number : 128 Question Id : 59445932544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In the past, promises have been made, kept and broken, and they are being make yet again.

Options :

1. % it is being made

2. % they are been make
3. ¥ they are being made

4. % No improvement

Question Number : 129 Question Id : 59445932545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No



improvement’.

September is one of the busiest months of the year, with a range of different tasks at hand.
Options :

1. # one of the busy month

2. % one’s of the busiest month

3. * one of the more busier months

4. ¥ No improvement

Question Number : 129 Question Id : 59445932545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

September is one of the busiest months of the year, with a range of different tasks at hand.
Options :

1. # one of the busy month
2. % one’s of the busiest month
3. % one of the more busier months

4. ¥ No improvement

Question Number : 130 Question Id : 59445932546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We are getting better being variety conscious, and supermarkets must display the variety at point of sale.
Options :

1. ¥ at

2. % in

3. % on

4, % of



Question Number : 130 Question Id : 59445932546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We are getting better being variety conscious, and supermarkets must display the variety at point of sale.
Options :

1. ¥ at

2. % in

3. % on

4. % of

Question Number : 131 Question Id : 59445932547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I recognise people may have different points of view and are free to have own opinion.
Options :

1. * his

2. ¥ their

3. * there

4. * your

Question Number : 131 Question Id : 59445932547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I recognise people may have different points of view and are free to have own opinion.
Options :

1. # his



2. % their
3. # there

4. % your

Question Number : 132 Question Id : 59445932548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

By the time that ward round was finished, I had two more things that were important.
Options :

1. #® learn

2. % learns

3. ¥ learnt

4. % learned

Question Number : 132 Question Id : 59445932548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

By the time that ward round was finished, I had two more things that were important.
Options :

1. ® learn

2. % learns

3. ¥ learnt

4. % learned

Question Number : 133 Question Id : 59445932549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



My advice is never download any program from the internet you know exactly what it is.
Options :

1. % if

2. % since

3. % yet

4. ¥ unless

Question Number : 133 Question Id : 59445932549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

My advice is never download any program from the internet you know exactly what it is.
Options :

1. % if

2. # since

3. % yet

4. ¥ unless

Question Number : 134 Question Id : 59445932550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Business information company CMIE’s monthly jobs data showed
B. the highest on record since it began its survey

C. that unemployment rate was already a worrying 8.7% in March,
D. over three years ago

Options :

1. ¥ ACBD
2. % ABCD
3. ¥ ADCB
4. % ACDB



Question Number : 134 Question Id : 59445932550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Business information company CMIE’s monthly jobs data showed
B. the highest on record since it began its survey

C. that unemployment rate was already a worrying 8.7% in March,
D. over three years ago

Options :

1. ¥ ACBD
2. % ABCD
3. % ADCB
4. % ACDB

Question Number : 135 Question Id : 59445932551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. to their suppliers which is likely to ripple out

B. news emerging from industry suggests that

C. and put more stress on jobs

D. some manufacturers have begun to hold back payments

Options :

1. #* BDCA
2. ¥ BDAC
3. % BADC
4. % BCAD

Question Number : 135 Question Id : 59445932551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. to their suppliers which is likely to ripple out

B. news emerging from industry suggests that

C. and put more stress on jobs

D. some manufacturers have begun to hold back payments

Options :

1. ¥ BDCA
2. ¥ BDAC
3. ¥ BADC
4. % BCAD

Question Number : 136 Question Id : 59445932552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. The measure was taken after only three new cases of Covid-19 were reported in the city.

B. It also means there is hope for other countries trying to control the pandemic through their own curbs.

C. The city of Wuhan where the coronavirus first emerged ended its 76 day lockdown yesterday.

D. The end of Wuhan’s lockdown means the Chinese authorities’ strict imposition of restrictions is paying off.

Options :

1. ®* CBAD
2. ¥ CDBA
3. ¥ CADB
4. % CABD

Question Number : 136 Question Id : 59445932552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. The measure was taken after only three new cases of Covid-19 were reported in the city.
B. It also means there is hope for other countries trying to control the pandemic through their own curbs.



C. The city of Wuhan where the coronavirus first emerged ended its 76 day lockdown yesterday.
D. The end of Wuhan’s lockdown means the Chinese authorities’ strict imposition of restrictions is paying off.

Options :

1. # CBAD
2. % CDBA
3. ¥ CADB
4. ¥ CABD

Question Number : 137 Question Id : 59445932553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. When you look at the behaviour, do your emotions get filled with anger, criticism or confusion?
B. Their actions may be wrong, but we decide that they are bad persons.

C. Hence we are quick to judge them, based on one or two of their behaviours.

D. Almost every day, we see people behaving in ways that go against our beliefs.

Options :

1. #* DABC
2. % DBCA
3. ¥ DCAB
4. ¥ DCBA

Question Number : 137 Question Id : 59445932553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. When you look at the behaviour, do your emotions get filled with anger, criticism or confusion?
B. Their actions may be wrong, but we decide that they are bad persons.

C. Hence we are quick to judge them, based on one or two of their behaviours.

D. Almost every day, we see people behaving in ways that go against our beliefs.

Options :

1. ¥ DABC



2. #* DBCA
3. ¥ DCAB
4. ¥ DCBA

Question Number : 138 Question Id : 59445932554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The pastor called those needing prayer to come to kneel at the church’s

The man who is constantly making decisions and being compelled to those gets nowhere.
Options :

1. % altar; alter

2. % altar; altar

3. % alter; alter

4. # alter, altar

Question Number : 138 Question Id : 59445932554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The pastor called those needing prayer to come to kneel at the church’s

The man who is constantly making decisions and being compelled to those gets nowhere.
Options :

1. % altar; alter

2. % altar; altar

3. ® alter; alter

4. ® alter, altar

Question Number : 139 Question Id : 59445932555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The sound track gives us the before the visual cue; it is as if the thunder arrives before the lightning.

It focuses on communication rather than written communication, which is vital in communities where there are many people who are
not literate.

Options :

1. #* aural; aural
2. % aural; oral
3. ® oral; oral

4. # oral; aural

Question Number : 139 Question Id : 59445932555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

The sound track gives us the before the visual cue; it is as if the thunder arrives before the lightning.

It focuses on communication rather than written communication, which is vital in communities where there are many people who are
not literate.

Options :

1. #* aural; aural
2. % aural; oral
3. ® oral; oral

4. # oral; aural

Question Number : 140 Question Id : 59445932556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

Since the stock market started to falter, more and more people have been having a go at becoming property



An elephant, tired after searching for water, lies in writhing pain on a land.
Options :

1. # baron; baron

2. % barren, baron

3. ¥ baron; barren

4. ® barren; barren

Question Number : 140 Question Id : 59445932556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

Since the stock market started to falter, more and more people have been having a go at becoming property

An elephant, tired after searching for water, lies in writhing pain on a land.
Options :

1. # baron; baron

2. % barren, baron

3. ¥ baron; barren

4. ® barren; barren

General English2
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Group Id : 594459423
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Group Minimum Duration : 0
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English Language & Comprehension2
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5944591312
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 59445932557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Frigid
Options :

1. % Hawkish
2. % Dwindle

3. % Subside
4. ¥ Tropical

Question Number : 141 Question Id : 59445932557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Frigid



Options :

1. % Hawkish
2. % Dwindle
3. # Subside
4. ¥ Tropical

Question Number : 142 Question Id : 59445932558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Constrict
Options :

1. ¥ Dilate

2. % Downturn
3. % Diminish

4. % Downsize

Question Number : 142 Question Id : 59445932558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Constrict
Options :

1. ¥ Dilate

2. % Downturn
3. #* Diminish

4. % Downsize

Question Number : 143 Question Id : 59445932559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the incorrectly spelt word.
Options :

1. ®* Remarkable

2. ¥ Recruitmant

3. ¥ Demonstrate

4. % Significance

Question Number : 143 Question Id : 59445932559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Remarkable

2. ¥ Recruitmant

3. # Demonstrate

4. % Significance

Question Number : 144 Question Id : 59445932560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Harmonious

2. % Revolution

3. ¥ Hereditory

4. ¥ Supernatural

Question Number : 144 Question Id : 59445932560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :



1. * Harmonious
2. # Revolution
3. ¥ Hereditory

4. %* Supernatural

Question Number : 145 Question Id : 59445932561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Chronicles

2. % Monumental

3. % Sagacious

4. ¥ Abbreviiate

Question Number : 145 Question Id : 59445932561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Chronicles

2. ¥ Monumental

3. % Sagacious

4. ¥ Abbreviiate

Question Number : 146 Question Id : 59445932562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Ennumerate

2. % Synchronize



3. % Computation

4. % Characterize

Question Number : 146 Question Id : 59445932562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Ennumerate

2. % Synchronize

3. ¥ Computation

4. % Characterize

Question Number : 147 Question Id : 59445932563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Let's form an ad hoc committee to make some recommendations to the board.
Options :

1. # Prepared in advance

2. ¥ For the special purpose

3. % Decided by the members

4. % Without due consideration

Question Number : 147 Question Id : 59445932563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Let's form an ad hoc committee to make some recommendations to the board.

Options :

1. # Prepared in advance



2. % For the special purpose
3. #* Decided by the members

4. % Without due consideration

Question Number : 148 Question Id : 59445932564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I avoid the hustle and bustle of malls and shopping centers whenever I can.

Options :

1. * Quick and happening

2. # Need for being fashionable
3. ¥ Busy and excited activity

4. % Being spacious and comfortable

Question Number : 148 Question Id : 59445932564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I avoid the hustle and bustle of malls and shopping centers whenever I can.

Options :

1. % Quick and happening

2. # Need for being fashionable
3. % Busy and excited activity

4. # Being spacious and comfortable

Question Number : 149 Question Id : 59445932565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.



Can we stop for a minute? I need to catch my breath—I can't run as fast as you guys!

Options :

1. # To slow down

2. % To rest for sometime
3. # To cough irregularly

4. ¥ To resume breathing normally

Question Number : 149 Question Id : 59445932565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Can we stop for a minute? I need to catch my breath—I can't run as fast as you guys!

Options :

1. # To slow down

2. # To rest for sometime
3. #® To cough irregularly

4. ¥ To resume breathing normally

Question Number : 150 Question Id : 59445932566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Like a cat on hot bricks
Options :

1. ¥ To be anxious

2. % To be secretive

3. #® To walk slowly
4. # Looking for food

Question Number : 150 Question Id : 59445932566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Like a cat on hot bricks
Options :

1. ¥ To be anxious

2. # To be secretive

3. % To walk slowly
4. # Looking for food

Question Number : 151 Question Id : 59445932567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Raise one’s hackles
Options :

1. # To raise one’s concern
2. ¥ To greatly irritate

3. # To be moody

4. % To be promoted

Question Number : 151 Question Id : 59445932567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Raise one’s hackles
Options :

1. # To raise one’s concern
2. % To greatly irritate

3. % To be moody

4. % To be promoted



Question Number : 152 Question Id : 59445932568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A written statement confirmed by oath or affirmation, for use as evidence in court.
Options :

1. * Doctrine

2. % Sermon

3. ¥ Affidavit

4. % Discourse

Question Number : 152 Question Id : 59445932568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A written statement confirmed by oath or affirmation, for use as evidence in court.
Options :

1. * Doctrine

2. # Sermon

3. % Affidavit

4. % Discourse

Question Number : 153 Question Id : 59445932569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A large group of people or things of a particular kind.
Options :
1. % Archery



2. % Flight
3. # Troupe
4. ¥ Bevy

Question Number : 153 Question Id : 59445932569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A large group of people or things of a particular kind.
Options :

1. # Archery

2. # Flight

3. % Troupe

4. ¥ Bevy

Question Number : 154 Question Id : 59445932570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Having or showing too great a readiness to believe things.
Options :

1. ¥ Credulous

2. #% Greenhorn

3. % Susceptible

4. % Skeptical

Question Number : 154 Question Id : 59445932570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



Having or showing too great a readiness to believe things.
Options :

1. % Credulous

2. # Greenhorn

3. % Susceptible

4. % Skeptical

Question Number : 155 Question Id : 59445932571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The study of statistics such as births, deaths, income, or the incidence of disease, which illustrate the changing structure of human populations.
Options :

1. # Anthropology

2. ¥ Demography

3. # Etymology

4. ¥ Demonology

Question Number : 155 Question Id : 59445932571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The study of statistics such as births, deaths, income, or the incidence of disease, which illustrate the changing structure of human populations.
Options :

1. # Anthropology

2. % Demography

3. # Etymology

4. ¥ Demonology

Sub-Section Number : 2
Sub-Section Id : 5944591313
Question Shuffling Allowed : Yes



Question Id : 59445932572 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Silk Road was a network of trade routes which connected the East and West, and was central to the economic, cultural, political, and
religious interactions between these regions from the 2nd century BCE to the 18th century. The Silk Road primarily refers to the land routes
connecting East Asia and Southeast Asia with South Asia, Persia, the Arabian Peninsula, East Africa and Southern Europe. The Silk Road
derives its name from the lucrative trade in silk carried out along its length, beginning in the Han dynasty in China.

The Silk Road trade played a significant role in the development of the civilizations of China, Korea, Japan, the Indian subcontinent, Iran,
Europe, the Horn of Africa and Arabia, opening long-distance political and economic relations between the civilizations. Though silk was the
major trade item exported from China, many other goods and ideas were exchanged, including religions (especially Buddhism), syncretic
philosophies, sciences, and technologies like paper and gunpowder. So, in addition to economic trade, the Silk Road was a route for cultural trade
among the civilizations along its network. Diseases, most notably plague, also spread along the Silk Road.

Some remnants of what was probably Chinese silk dating from 1070 BCE have been found in Ancient Egypt. The Great Oasis cities of Central
Asia played a crucial role in the effective functioning of the Silk Road trade. The originating source seems sufficiently reliable, but silk degrades
very rapidly, so it cannot be verified whether it was cultivated silk (which almost certainly came from China) or a type of wild silk, which might
have come from the Mediterranean or Middle East. Archeological sites such as the Berel burial ground in Kazakhstan, confirmed that the
nomadic Arimaspians were not only breeding horses for trade but also great craftsmen able to propagate exquisite art pieces along the Silk Road.

Sub questions

Question Number : 156 Question Id : 59445932573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many things were exported and exchanged in the regions through the Silk Road. Which of the following is true?
Options :

1. # Religion, gunpowder, paper

2. # Sciences and philosophies, diseases

3. % Religion, gunpowder,paper and Sciences and philosophies,diseases.

4. # Only goods and trades not ideas

Question Number : 157 Question Id : 59445932574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The passage talks about wild silk. Where did it come from according to the passage?
Options :

1. ¥ Middle East

2. % Southern Europe

3. # Horn of Africa

4. % Ancient Egypt

Question Number : 158 Question Id : 59445932575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Great Oasis cities played a crucial role in the effective functioning of the Silk Road trade. Where did these cities lie?
Options :

1. # Southern Europe

2. % Central Europe

3. % Central Asia

4. % East Africa

Question Number : 159 Question Id : 59445932576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Silk Road played a significant role in the development of some countries or regions. Which country or region was not involved in that
development?

Options :

1. ¥ Colombia
2. % Korea

3. # Iran

4. # Japan

Question Number : 160 Question Id : 59445932577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, The Silk Road primarily refers to the land routes connecting to one another. Which routes were not linked by it?



Options :

1. # East Asia with South Asia

2. # East Asia with Persia

3. % South America and South Africa
4. # East Asia with Southern Europe

Question Id : 59445932572 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Silk Road was a network of trade routes which connected the East and West, and was central to the economic, cultural, political, and
religious interactions between these regions from the 2nd century BCE to the 18th century. The Silk Road primarily refers to the land routes
connecting East Asia and Southeast Asia with South Asia, Persia, the Arabian Peninsula, East Africa and Southern Europe. The Silk Road
derives its name from the lucrative trade in silk carried out along its length, beginning in the Han dynasty in China.

The Silk Road trade played a significant role in the development of the civilizations of China, Korea, Japan, the Indian subcontinent, Iran,
Europe, the Horn of Africa and Arabia, opening long-distance political and economic relations between the civilizations. Though silk was the
major trade item exported from China, many other goods and ideas were exchanged, including religions (especially Buddhism), syncretic
philosophies, sciences, and technologies like paper and gunpowder. So, in addition to economic trade, the Silk Road was a route for cultural trade
among the civilizations along its network. Diseases, most notably plague, also spread along the Silk Road.

Some remnants of what was probably Chinese silk dating from 1070 BCE have been found in Ancient Egypt. The Great Oasis cities of Central
Asia played a crucial role in the effective functioning of the Silk Road trade. The originating source seems sufficiently reliable, but silk degrades
very rapidly, so it cannot be verified whether it was cultivated silk (which almost certainly came from China) or a type of wild silk, which might
have come from the Mediterranean or Middle East. Archeological sites such as the Berel burial ground in Kazakhstan, confirmed that the
nomadic Arimaspians were not only breeding horses for trade but also great craftsmen able to propagate exquisite art pieces along the Silk Road.

Sub questions

Question Number : 156 Question Id : 59445932573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many things were exported and exchanged in the regions through the Silk Road. Which of the following is true?
Options :

1. # Religion, gunpowder, paper

2. # Sciences and philosophies, diseases



3. % Religion, gunpowder,paper and Sciences and philosophies,diseases.

4. # Only goods and trades not ideas

Question Number : 157 Question Id : 59445932574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage talks about wild silk. Where did it come from according to the passage?
Options :

1. ¥ Middle East

2. # Southern Europe

3. * Horn of Africa

4. % Ancient Egypt

Question Number : 158 Question Id : 59445932575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Great Oasis cities played a crucial role in the effective functioning of the Silk Road trade. Where did these cities lie?
Options :

1. # Southern Europe

2. % Central Europe

3. ¢ Central Asia

4. % East Africa

Question Number : 159 Question Id : 59445932576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Silk Road played a significant role in the development of some countries or regions. Which country or region was not involved in that
development?

Options :

1. ¥ Colombia
2. % Korea

3. # Iran

4. % Japan



Question Number : 160 Question Id : 59445932577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, The Silk Road primarily refers to the land routes connecting to one another. Which routes were not linked by it?

Options :

1. * East Asia with South Asia

2. * East Asia with Persia

3. % South America and South Africa
4. * East Asia with Southern Europe
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Question Number : 161 Question Id : 59445932578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # T ooy weg 7 Ut o1 v fpar man g2

Options :

1. % 3{U-ATU-q
2. % DR
3. % gaxdl

4. % delUl

Question Number : 161 Question Id : 59445932578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa o T vy wieg A Suwt o1 van far mar g2
Options :

1. % 3{uA9q

2. ¢ JUHR

3. % Jexdl

4. % gerdl

Question Number : 162 Question Id : 59445932579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefeiRed & 9 faU 7T e & UDHR &1 g Hifeie-

HWH
Options :




1. % faqzr
2. % gy
3. ¢ dgd
4. % qIY

Question Number : 162 Question Id : 59445932579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfoiad # 9 foT U visg & UHR &1 99 HIfoTe-

"gaZ"
Options :

1. % fad=rel
2. % eaeH
3. ¥ dugd

4. % d&dH

Question Number : 163 Question Id : 59445932580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"gapier FAfeRIT o § v | &1 Wreg 79
Options :

1. % BRE!

2. % 3l

3. % gl

4. 3Rl

Question Number : 163 Question Id : 59445932580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt FEfIRad o 9 fo5e W &1 2eg 2



Options :
1. % BRI
2. % 3Gl
3. % gl
4.« 3RS

Question Number : 164 Question Id : 59445932581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeifad & @ SR g § -1 9HN 82
Options :

1. ¢ 3feiHId THY

2. % fgauN

3. ¥ d=Y HHY

4. % GG gAY

Question Number : 164 Question Id : 59445932581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrAfRad & & "3RI Teg § &H-91 IHN 67
Options :

1.« 3ogdHTd JHTH

2. % fg9u™

3. % dYeY JHNY

4. % GG g™

Question Number : 165 Question Id : 59445932582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfeRad # & Suer faehed 1 =0 HISTT-




et Brd 1 B AT BN BT NY I I U, HEAd g
Options :

1. % fa=or

2. % B

3. ® g

4. « T

Question Number : 165 Question Id : 59445932582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffead & 9 S faeed &1 = BHifeTT-
fep it Tl T R AT B b1 S1Y PRI dTel Teg g g

Options :
1. % fa=mo
2. % DI
3. % @
4. ¢ T

Question Number : 166 Question Id : 59445932583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ rfemre wieg # HH- 1Y g2
Options :

1. % 3fe gfY

2. % Uy

3. ¢ ol GfY

4. % fari 9y

Question Number : 166 Question Id : 59445932583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e & 9 femme wreg § HH- 1fY g2
Options :

1. % 3rgrie Y

2. % YUY

3. ¢ o Y

4. % foge Y

Question Number : 167 Question Id : 59445932584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9 PIH-91 rea faRwor 78 &2
Options :

1. ¥ dH

2. % X1d

3. % DIl

4. % S{THI

Question Number : 167 Question Id : 59445932584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & § B.91 g Lo &
Options :

1.¥ dqH

2. % Td

3. % DIl

4. % 3MTTH

Question Number : 168 Question Id : 59445932585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAmfeRad 4 9 2reg & g U T 9T PHiforT-
Options :

1. % forforfas

2. ¢ forSiifaeT

3. % SolaT

4. % Sfiforfaur

Question Number : 168 Question Id : 59445932585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRad o T 2o & Y U D1 I DITOTT-
Options :

1. % forforfaT

2. ¢ TSTSitfasT

3. % GiiSiitayr

4. % SiiforasT

Question Number : 169 Question Id : 59445932586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 ! aTd Xeq BT 99 HIToTE-
Options :

1. % Tgult

2. % fguit

3. % Yguil

4, Tfgull

Question Number : 169 Question Id : 59445932586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfefad o 9 g ad=it a1d Wee 7 9 BT



Options :

1. % Tguil
2. % 7fguit
3. % Yguil
4. ¢ RO

Question Number : 170 Question Id : 59445932587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR 3 Ry 0 212, 35 ) ol Y a1 e AR
3{fHfgd - sifdfgd

Options :

1. % 3ffrd - gl gafl
2. % J[DR - W1

3. ¢ gl g3l - 3faa
4. % 3 - i

Question Number : 170 Question Id : 59445932587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o 9 faU 7T Wreg-g & Tal 31-1g &1 9 BifoTe-
3fftifed - erfdfed

Options :

1. % 3ffad - del gl
2. % 3IPOR - WH

3. ¥ DT g3 - 3rfad
4, % 3ffd - AP

Question Number : 171 Question Id : 59445932588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
e & 9 S &1 9 Seg $1H9-91 52

Options :

Question Number : 171 Question Id : 59445932588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 <] &1 [9dd Weg $1F-91 87

Options :

Question Number : 172 Question Id : 59445932589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRad A T SRFTd/dHT Xeg o1 Td DioTu-
Options :

1. % UMY 3(PR

2. % YAV DR

3. ¢ YTADBR

4. % gAD AAPR

Question Number : 172 Question Id : 59445932589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAEfaRad A T SRTd/dHd Teg &1 T DioTu-
Options :

1. % YN 3CHR

2. % Y TADR

3. ¢ YTAPR

4. % JOH DR

Question Number : 173 Question Id : 59445932590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad # @ fou 7T are & fRiw T weg &1 99 S
31 & UM aralt 31

Options :

1. % qIdl—cl
2. % ggary
3. % YTy
4. ST

Question Number : 173 Question Id : 59445932590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad © 9 foT U a1 & ol U Wieg, &1 994 Sifoe-
3~ &I = ardr 3

Options :

1. ® QIdM-d
2. % ggary
3. % YTyl
4.« S



Question Number : 174 Question Id : 59445932591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR & § B-91 Treg "o o1 v T 2
Options :

1. % gt

2. ¥ 3fd

3. % Tid

4. % qld

Question Number : 174 Question Id : 59445932591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefoed & 9 oH-91 2ea "o’ 1 waigard 781 82
Options :

1. % gt

2. ¢ 3d

3. % UId

4, % 4q1d

Question Number : 175 Question Id : 59445932592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoiad & ¥ orglg ad-! aTd Xeg T 98- BIfTE-
Options :

1. % 3N

2. % S(PFRNT

3. v A

4. % 3{d[H

Question Number : 175 Question Id : 59445932592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfeRad o 9 org ad-T aTel Xeg; BT I9 BHIfoTE-
Options :

1. % AR

2. % SFRTN

3. ¢ 3

4. % 3{dH

Question Number : 176 Question Id : 59445932593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freferad & O il fau U oo & o T 2reg &1 994 HIfoTe-
T et (@1 ) o Raa a1 gHH e s A 81|

Options :

1. ¥ 3RUG-dfgaT
2. % Tglpl

3. % 3fJHICHI gl
4. % 3R IEIDI

Question Number : 176 Question Id : 59445932593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferiRad # ¥ =i fau 71U 9/ & fore e rsg &1 99+ Pifor-
Tt e @ ) SR A a1 9HgE e SS9 8

Options :

1. ¢ 3RUY-AfgdHT

2. % TgIhl

3. % STAIGHY gl
4. % 3RIF dgip]



Question Number : 177 Question Id : 59445932594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=iy o 9 ford fawed & smrem &Re &1 faufad &1 wanT fear T g2
Options :

1. % T el @l |

2. ¢ SR US 9 IR

3. % TUTA A 0T D! AR

4. % T YR I &1 3|

Question Number : 177 Question Id : 59445932594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeiad 7 O foog faweu & siureM ®Re o1 faufad o1 i fear mar g?
Options :

1. % Jd1 % @i Bl

2. ¢ SERM US J FRTI

3. % YIS A YT ! |

4. % fYPHT AR So &l |

Question Number : 178 Question Id : 59445932595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe~< Tfec & Ul I & A I THET S B |
Options :

1. % 3fffeeprel

2. % Jfddra

3. ¥ JNIdIq

4.« fqipTd



Question Number : 178 Question Id : 59445932595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe=<t Tfec &1 ol T & T ST ST 8

Options :

1. % 3ffgepre
2. % Jifdera
3. % Q¥NUIdIq
4.« fdIepTel

Question Number : 179 Question Id : 59445932596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmferRad & ¥ giceiv Xeg &1 9g- Pifore-
Options :

1. ® G

2. ¢ U

3. % Wil

4. % WGRIfHHI

Question Number : 179 Question Id : 59445932596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffefaa o T gfce T 2reg &1 T4 Pifore-
Options :

1. % "

2. ¢ YW

3. % W

4. % QR

Question Number : 180 Question Id : 59445932597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AR ¥ O 9199 & TSR &1 I99 BHIfoTL-
g8 I ST9IR 471 Hifdh 39 il WRigH Y|

Options :

1. % Jgad are

2. % fafdarae gty
3. ¢ Y 9/

4. % I 9qIH

Question Number : 180 Question Id : 59445932597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR § 9 9T & YR b1 I HifoTe-
98 SHITY STSIR 741 Hifeh I B Wi 3|
Options :
1. % Igod a1
2. % fafearee a1
3. fog are
4, % WA

General Hindi2
Group Number : 10
Group Id : 594459425
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Hindi Language & Comprehension2

Section Id : 5944591147
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591315
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 59445932598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed o T Igaad s &1 w9 Difore-
Options :

1. % oIdl

2. % THAT

3. % el

4. ¢ T2

Question Number : 181 Question Id : 59445932598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfeRad & O dgaa- g &1 99 Pifort-

Options :



1. % Qrdr
2. % THAT
3. % ol
4. T

Question Number : 182 Question Id : 59445932599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad A O i feU U 9190 & UBR &1 T HifoTu-

e ST A1 ] |
Options :

1. % [qYTarde drag
2. % Jogdd arad
3. ¢ MNYdrES I
4. % RIS dIR

Question Number : 182 Question Id : 59445932599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad # O i ST U 9190 & UBR &1 I9 DifoTu-

CIRRSSIBIREE IR
Options :

1. # [qYTardsd a1
2. % Hgdrdd diag
3. ¢ fANyaE® g
4. % IFTATID dIH

Question Number : 183 Question Id : 59445932600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAEfoiad 7 9 e QU U a1 & I R &1 99 Hifole-
3Rall 7 g feran|

Options :

1. ® Hqdred
2. ¥ HUATA
3. % HIqqrg
4. % fopgrar

Question Number : 183 Question Id : 59445932600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad A T i< ST U 9190 & 9 UhR &1 I DifoTu-
3R = T fera

Options :

1. % Hgared
2. ¢ HHATH
3. # Y[ddr=Yg
4. % fopgrar

Question Number : 184 Question Id : 59445932601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P YR TR 199 & o 9E BId 5, FEfeiad § 9 39 fad ey o1 I8 HIE, S T & YR TR 9190 BT He Tal 82
Options :

1. ¢ fasganieares ai|
2. % iy are

3. % ggod die

4. % I I




Question Number : 184 Question Id : 59445932601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P YR TR I & I Ve 81d 7, Ffirad & ¥ 39 [abed o1 7o SiTg, S 9 1 & SMYR IR a1 &7 9 81 82
Options :

1. ¢ fowrariedrees a

2. % iy ar

3. % JYId qI

4. % I 1

Question Number : 185 Question Id : 59445932602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=feRad & O Y ! aTel a1 BT I Biford-
Options :

1. % SF IUD! G 313 Al I U= AdT- el ¥ 91 |
2. % MY T TP Frax FIfear Smn gl

3. % Y YAdR HUI & 91y el gueT =3 a |

4. ¢ QIS AR AT B

Question Number : 185 Question Id : 59445932602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o O Y ol arat a1 &1 T BHifoTu-
Options :

1. % Tq IUDI IR 375 Al I8 30U AIl- e ¥ 1d |
2. % TR i H U e fafean sman g

3. % Y YAdR B & 91y el gUeT =3l |

4. It IR AV |

Question Number : 186 Question Id : 59445932603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o T gerart e g W U usAr w1 o s g2
Options :

1. % 3FIY-[q7T Bl

2. % qHA dioll BT AN

3. ¢ JUCRI B Dl UHE 9 TS

4. % AGY AT

Question Number : 186 Question Id : 59445932603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed & @ gererT fae- g8 IR U usAT &1 31 g2
Options :

1. % STY-foTa D=l

2. % SHA Tioll BT YN

3. ¥ UK I DIS YHIT 7 TSI

4. % Hgiy gl

Question Number : 187 Question Id : 59445932604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafad § I foog gerak o1 o "M &y g 82
Options :

1. % Bl gt g

2.« Blbl gl

3. % ©: O HRAT

4, % S MTIHM Th HRAI

Question Number : 187 Question Id : 59445932604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frefoRad & @ foy gerar &1 o "SHmm ary i1 82
Options :

1. % BTl gl gl

2.« Bibl gl

3. % T: U ST

4. % SHM YHM Th Bl

Question Number : 188 Question Id : 59445932605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferfad o I gerarT "Sidt Tt T &1 3rf g2
Options :

1. ¢ S[-dIP Teld hTH DRI

2. % gl SrcHl

3. % fO7aHT S ATe @

4. % IRa1 fg@m

Question Number : 188 Question Id : 59445932605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H & HRTaRT it Hergit fAerer <1 e 312 82
Options :

1. % SIH-gLAHR eTd HTH HRAI

2. % gl fTeH!

3. % fSTaT it =1 @

4. % gRar fear

Question Number : 189 Question Id : 59445932606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=foRad o 9 oo dieifad &1 31 " JHa gid I ol 99 oIT¢ del a1H 8" 82
Options :

1. % 3fhdl I HIS 8! BIS Ihdl

2. % gHgR foRaM & gid 9%+ urd

3. ¢ 3N ARTd FusT, S Fda Il ard

4. % ) H IgHR ATRAT A R

Question Number : 189 Question Id : 59445932606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faied & 9 forg Aeifad &1 i "Jeam gid T ot 99 oY 981 aH 8" 82
Options :

1. % 3{Bdl T HTS ol BIs bdl

2. % gHeER faRdM & gId die+ Urd

3. ¢ 3N ARTd FusT, S Fod I ard

4. % O H IgHR ATRAS J R

Question Number : 190 Question Id : 59445932607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafed # @ deifad did & grge § JiY Bl BT 3T 3 g2
Options :

1. % qIehdar MeH! ¥ &1 Al Wl BR 91 §

2. % fopdl g &1 oG T g1

3. % §gd HH AR I

4. ¢ T8I 58 W 591 DI UG A B

Question Number : 190 Question Id : 59445932607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFefoiad & 9 el dia & dieel § A $gl &1 1 31 82



Options :

1. % qIHdaR SATGH I & anT Ht gRO1d §
2. % it R @t et 7 g

3. % 9gd HH 3R g

4. ¢ T8I 58 W §a1 DI UG A B

Question Number : 191 Question Id : 59445932608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed # @ fog deifad &1 3 "33t avg 4 81 WR ot Tega gl ], STafs Angelt diot 3ifeies 811 W P13 B gl 3@l /2
Options :

1. ¢ A& I geob! WRI, ST HRT B3

2. % IR A3 &l 5 3R g0 &9 g 3Hhal

3. % TR BT SN SIRTST, 319 Tid &1 g

4. % guft 4T A IS AT 3G G HYA

Question Number : 191 Question Id : 59445932608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faied o 9 forg Aeifad &1 o 3rest avg HH 8 IR Ht Tegar gt 7, Stafes ATel 9ot e g IR 1 Big id -Tgi I9dl” 82
Options :

1. ¢ A& I geeb! WR, ST HRT B3

2. % IR AT <1 5 3R §H 919 Yd 31dhat

3. % TR PHT O SIRTST, 311 71id &1 g

4. % R YT I IS 7T S 8T HYd

Question Number : 192 Question Id : 59445932609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafRad 7 9§ deifed &1 vafid U Ha-a1 82

Options :




1. ® PO QI - Gordll, T 7 A1 s
2. ¥ DA g1g 7 IoTeh, Gl HF AT s
3. % GIgd g1 7 Ioleh, ) 7 HIga oS
4. % B 81T 7 G F Wi A1 Ioial!

Question Number : 192 Question Id : 59445932609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfeRad 7 @ delfad &1 yafid U S1H-91 82
Options :

1. % PHIOd W A Goraht, 91 7 g a1g

2. ¢ B 81T 7 IoTet, I 7 g s

3. % I 81 7 Iofell, T 7 BIad s

4. % DA T 7 W A g A8 Ioreh

Question Number : 193 Question Id : 59445932610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & 9 fau 7 are & food fomg &1 v =16t fear man g2
e A 9 Hel 8, "I 9ug g Al 1

Options :

1. % 3{eufor™ forg
2. % 3Rl g
3. ¢ G fag
4. % guf frm g

Question Number : 193 Question Id : 59445932610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At o T feu v aten # fy fomg o1 yanT 981 foan mar g2



JeRier A 9 $el g, "IRIEN JuAg 9 e I
Options :

1. % 3cufR™ g

2. % AR I8

3. ¢ fia g

4. % quf foRM g

Question Number : 194 Question Id : 59445932611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ® @ ford arer § <l IR faeg &1 g fosar a1 g2
Options :

1. ¥ 16 AETG, | 1 T AT a1 S DI 2 AET AFT SI1dl g |

2. % TS A el UG BT IS AT B ... §H B AT A |
3. % off W A HYT — T b AN W g1 Mgy |

4. % TP NS B

Question Number : 194 Question Id : 59445932611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foiaa o 9 fy areg & < Swrur forg &1 v far mar g2
Options :

1. ¢ 16 HHETY, | I T HET GYUT S &I 2 HET HHT STdl 8

2. % TSN A wEl, "UReT BT IS AT B ... §H B AT HAN |
3. % I A el — Id & HF IR Ia-1 ANyl

4, ® W%Eﬁﬂa%—

Question Number : 195 Question Id : 59445932612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ffaRed 7 9 fu e argy # fog fag &1 v fosar ma g2
d-feT ufem B IR 8 gl firadr g

Options :

1. % 3G forg Ud guifar™ fag
2. % ol fog Td IUfoR™ e

3. ¢ A1 fog wd yofform ferg

4. % Iufa¥ fore ud 3feufar™ fag

Question Number : 195 Question Id : 59445932612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 fou 7o arew & g foars o1 v fosar man g2
d-feT uRyH B WR &t Ihdar fHred g1

Options :

1. % Sfgfovm fog vd iR forg
2. % giofe fog Td Iufor™ g

3. ¢ o fog Td guffor™ fog

4. % IUfaR forg ud sieufar™ fag

Sub-Section Number : 2
Sub-Section Id : 5944591316
Question Shuffling Allowed : Yes

Question Id : 59445932613 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

ffofRad TTerer o7 earyd e SredE R Ul &% SR fifvTe-

I SR fd BTl @1 ARG, AT, Hed-1-uaul 9uT §TTRIAS HIaYHT! & Ufd SdTe! Tal 81 Ydhdl | 36T Ad-gad URH HTo0Idh IH
& Ufd 8 3719 81 gl |, St Siia- & enfra Jied, mafergul 2id SR anfdies W & Udie & |
fIoT-RY & T US A g Ud Sia B TUE SHRT § 3R T IHBYT B ST Uded B1 ARariar s a1 g1 ST B HRg Siia-




D! GTY TE! e Faifed Siar-aaf 3riar Hd-Xgi" o aoft <al § | 4w Siia BT Siebie W TEpfd o1 afkreed 71 geril &
P oy BT SATAE, &Hwhﬁsﬁw{eguwweﬁwgaﬂ%lwa?mﬁaﬁ&mﬁ Gaied, Fshafdd, Ja U H, 3007 g7 30—
H{UquﬁW‘g’&H%I HTH T Yo H1 Sl U 7, 39 Jd | Alh-HedTul ! Hig-T Hf Janfed fhu gu gl
ﬁwmﬁwmuﬁﬁﬁamﬁaﬁwmuﬁnm%%@ﬁwm% S U, dU, HHUM 3R 7 7 &
&nﬁw%é‘q’aﬁfﬂ@“{ﬁ&ﬂlqd BT 21 3% H1og &8 g Hiac & el ichell, IGP SMUR TR & dl- i o o off et
PR TP g | HiHT 3P Fdcd B ATARD HII-TTEHT & | 3 HII-TTET 1 TR 1 SUIAH &l SR Ioi- (seby <ufrar ot Hifa ot
HIH-HAl DI (:317 3R Foafdas i I W13
gt & PIeg H Sreatfdesar &1 ufafAfda 7, o YRdig w1eg-sien & fikds dicd & <2 81d § Igasll & o1 & 3% ddd 3R
G- TeAT BT AT TN § 1 S8 Hiad-T1emT &t aToft & Sigcdid &idl I gad R qad! - 34 39 SIaRRal & JAM Yedfad &R f&ar
2, frarest & goii-guil dep uepTr 3R

Sub questions

Question Number : 196 Question Id : 59445932614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 $1F-91 Weg “3asd” &1 yaaard! el g2
Options :

1. % HeldHIl

2. % g

3. % 341Y

4. % Y

Question Number : 197 Question Id : 59445932615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRYad T & STIR &1 Yd-gT, IR ST IH & U 8 I 81 Jha §, S oitad & eiag ied, Faferguf =i sk

3fdrs T & udliep B

Options :
1. % h[dh




Question Number : 198 Question Id : 59445932616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIad T & gerht & Te # Fufafead § § oF-a1 fawe w8t 82

Options :

1. ¢ faS3y & ®UF § ot 7 d Sfia B TuRAT SHRY B 3R 30T AHHYT B 33} Tl Bt IR a1 fear g |

2. % HIGI-TIYAT BT T BT GellT &HaT I gad HRep 9 A I I SIURRAT & JHH Usaferd &R fear g1

3. % Yfdd ga & Tdd P SATARS -1 a1 8|

%. % UTG-TET b} Aol 1 Ui &dT AR Igi- sy SufRrar ot i 3= wrea-sa o1 f:37 SR Haafads iy 3 srquf fasan
|

Question Number : 199 Question Id : 59445932617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS TR & TR ot & T & o i 9 fog Sud usbe gange
Options :

1. % Fpdfd 9§ Ude gan gl

2. % JA T T Y o gl

3. % 3100 73U ol 0 & ghe gan B

4. FrHafchd, Gal ¥U H, 300 I1 39+ WYl &9 § Uahe g3 gl

Question Number : 200 Question Id : 59445932618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & & IwRied e &1 3fd 2 Farsd-
Options :

1. % P & fagei|

2. ¢ Hd BId TG BT DTod &b Ufd UH |

3. % Hd BHid JeHIGr B T

4. % Sffaq & oIy died|



Question Id : 59445932613 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TR I T YD 3 HR UHl & IR aford-

I SR fd BTl &1 fA[g, AT, Heu-1-Uaul 9uT §TTRIAS HIaYHT! & Ufd SdTe! Tal 81 Ydhdl | 36T Ad-gad URH HTo0Id IH
& Ufd 8 SHW g AHhdl &, S it & e e Taferguf 2ia iR enfdie M & Ui & |
fIoTI-RY & T US T g Ud Sita B T SHRT § 3R T IHBYT B ST Ydled B1 ARariar a1 a1 g1 7T B HRg Siia-
! T Fo! SHIhie Faffed Shad-aal AT Hd-Xg &I aTuf <dl g | YHT Siia ST STHI&T YR Apid BT ke g1 gkl &
BT T 47 1 I, SFTAR 3R SHefU0T U & Ube g1 2 | it & bred § o 3T UahrfRd, Fisheifobd, ot U &, 3H&{00r a7 30
Wwﬁmgaﬂ%lmﬁaﬁma‘rm% I9P o H Alb-Hednur o1 Hig—T f wHIfed fPu gu gl

ST 1 SATeATHB T BT TfafAfIa R gU W ST BT HRTT STt & ok Ay &1 ufafAfd 8, o 9, qu, Hoom ok 7t 7 &t
W%éﬂﬂtﬁ&?ﬂ‘rﬁ&ﬂlqdmm%lwqo HTeT B g8 A B & ) Fieidl, ST% MR W 8 Ud-bld 3 = 1t Freia
TR AP & | Hidd SD T Bl ATARD UG- € | S HIG-TTET 1 aruft Bt U &l ShR Si- by SIITRRAT BT il ST
HTg-dell b1 -7 3R FHufdie AT w1
et o opror & Srefrshar o1 ufaffiic 8, o yRda pred-siret & fod it o @ 81d € Igeril & i # 3eh Hded 3R
Y- TeHT BT AT AT 8 | S8 HIG-T1eHT &t aTofl & Sgcdid &Fdl ¥ Jad PR qad! - 34 39 SIARMT & JHMH Yodiad HR Gdm
g, ot o gl 9 weprer 3R

Sub questions

Question Number : 196 Question Id : 59445932614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRed & § SH-1 Wex “3ayq” $T garaard 751 62
Options :

1. # HeldHI

2. % 7

3. % 3U1Y

4. % 4y

Question Number : 197 Question Id : 59445932615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SURIER TR o 3R H1 Id-geT, TH HTH01 0 & Ul &) I 81 Tehdl 5, S Sitad & Haa Aied, Taferguf sfie ok




3Nfde o & s g
Options :

1. % HIAD

2. % M

3. sl

4.% 4y

Question Number : 198 Question Id : 59445932616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIad T & et & Te # Fufafead § § oiF-a1 fawe w8t 82

Options :

1. ¢ fas3y & ®UF § ot 3 Id Sfia Bt U1 SHRY B 3R 30T THHYT B 33} Tdled Bt IR a1 fear g |

2. % HIGI-TIYAT BT T BT GellT &HaT I gad HRep 9 A I I SIURRAT & JHH Usaferd &R fear g1

3. % Yfdd ga & Tdd P SATARS -1 a1 8|

%. % UG- b} aTuft BT Ui &dT AR Igi- sy SufRrar ot i 3= wrea-sa &1 f:387 SR Raafads iy 3 srquf fasan
|

Question Number : 199 Question Id : 59445932617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS TR & TR ot & T & o i 3 fog Sud usbe gange
Options :

1. % Fphdfd 9 H Ude gan gl

2. % AT T Y o gl

3. % 31{00T 73U ol U & Uhe gan B

4. ¢ Teepeifehd, Gel U H, 300 AT 370 HYU U H Uehe g g |

Question Number : 200 Question Id : 59445932618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafiad § O Swiad T &1 3fd ive sara-
Options :

1. % BT P} A<l |

2. ¢ Hd Bid TG BT HTod & Ufd UH |

3. % Hd BHid JeHIGr B T

4. % Staq & Ay iy |



